
Answer the following questions :

[E anoose the correct answer from those given :

(1)(-1)8*(-1)'=.. ... (zero or -1 or 1 or 2)
( 2 ) The image of the point (- 3 , 4) by translation (x ,y - 4) is ... . ....

((-3,0) or (-7,4) or (-3,8) or (-1,4))
(c or # or c or Gl

( a ) When tossing a die once , then probability of getting a number on the

upperface morethan 6 -.... ...... (A or zero o, + ", f )

(1)l%11 | z

(2) lt x+ 6=2 t xeZ tthen x=...............

( 3 ) ln the opposite figure :

ABCD is a rectangle

, then the area of A AgC

= ............'.'cm?

( 4 ) A box contains 5 white balls, 3 blue balls and B red balls all of them

are symmetric. one ball is drawn from the box at random. Then the

probability that the drawn ball is red =

(3){0} x{

LE frf Findtheresult of :4x32*22-7 xg

[b] Find the solution setof the inequality : x-2>3 t xeZ

!l Corplete the foltowing :

@ trl A cuboid-sh aped boxwith a square base its length is 10 cm. and its

height is 7 cm. Calculate the lateral area.

[b] The circumference of a circle is 88 cm. calculate its area.
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p f"t Find the solution setof the equation:3x+ 9 = 3 t xez

[b] The following table shows the percentage of the production of

a factory of house electrical sets :

The kind of set Washig machine Heater Oven Mixer

The percentage 30% 15% 40% 15%

Represent these data by circular sectors.

Answer the following questions :

[E anoose the correct answer from those given :

(1)lf 2x=-6,thenx€""""""" (N or A or z* or Tl
( 2 ) The circumference of the circle = """""""' x xl

(r or 2r or 12 or r+2)

( 3 ) When tossing a die once , then the probability of getting the number 5

equals (zero o, + o, Z or 1)

( 4 ) The number which satisfies the inequality : x> - 2 is ' "" ""

(-1 or -2 or -3 or -41

,no23x25-,lul 
2z

( 2 ) The set of counting numbers (C) n$

( 3 ) A cube of total area 150 cm? , then the length of its edge is ' """' "" cm.

( a ) ln a 6th primary class , the marks of the students are given in the

following table :

Excellent Very good Good Weak

B 1B 16 6

lf one of students is randownly chosen , then the probability that this

pupil got good degree is " ' '

[b] Find the solution set of the inequality :

, then represent it on the number line.
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@ t"t Find the solution setof the equation:2 x+g= 5 ,where xeru

[b] ln the opposite figure :

ABCD is a rectangle where its length = 8 cm.

and its width = 7 cm.

Calculate the area of shaded part.

and C (4 ,7) , then find :

( 1 ) The length of BC

( 2 ) The image of A ABC by translation (0 , - 4)

[b] The following table shows the number of students partcipating in the

schoo! activties :

The activity Cultural Sports Social Arts

The percentage 5% 45% 15% 35%

Represent these data by circular sectors.
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Answer the following questions :

@ corPlete the following :

(1)|3I=" """'

( 2 ) The probability of the impossible event =

( 3 ) lf x+2=3,xCN:thenx= """""""'

( 4 ) The perimeter of the base of a cuboid is 10 cm. , its height is 4 cm.

, then its lateral area = """' ""' cm?

tl cnoose the correct answer from those given :

(1)25 x22=

( 2 ) The surface area of a circle = xf, x

(31z* U {o} = """ """

(2' or 4t or 1)

(r or 12 or 2r)

(T or n$ or z)

( 1" ) When tossing a fair die once , then the probability of getting an odd

number = """""""' ( + o, + ", |l
p ert true (/) or false (X) :

(1)l-51+5=10

(2)lf3x=9,thenx=-3

( 3 ) The probability of the sure event= zero

BA
( a ) ln the opposite figure :

The distance between the points A and B = 2 units'

()

()

()

()

68



Finol Exominotions

@ uoin from column (A) to column (B) :

B

e

360"

(4 ,4)

{0,1 ,2}

A

( 1 ) The sum of the measures of the angles of the

sectors about the centre of the circle = """""""'

(212 ' 114

( 3 ) The solution set of the inequality: x+ 2 < 5 ,

where X CD$ is ."'..,."...'.

( 4 ) The image of the point (3 ,2) by transtation

(1 ,2) is "

p trt comPlete the following :

The length of the edge of a cube is 4 cm. Calculate its total area and

lateral area :

The total area = 6 x "........ = ..".."'. cm?

The lateral area =4x = "'..".."....cm?

23 x l2\a
[b] Find the result of : ----#

2',

23 x2a 
= 

2""* "" 
= 2..-.= ...............

2s2s1
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Answer the following questions :

[E "noose 
the correct answer:

( 1 ) An integer number included between - 2 and 3 is """""""'

(4or2or6or12l
( 2 ) The smallest positive integer number is ......'........

(zero or 1 or -1 or -21
(a or E$ or Ev-{0} or z)(3lZ* -T =

( a ) The surface area of the circle =

(5)3-t-st-
(fir or fi,r2 or 2fir or zxr2)

(0or1or3or6)
( 6 )The numberwhich satisfiesthe inequality:X<- 1 is

(zero or 1 or 2 or -2)
( 7 ) lf x+ 3 = 8 t XeZ- tthen the solution set is

({-3} or ts} or {-s} or al

@ Cnoose the correct answer :

(1)lf a+b=zerowherea*b rthenaxb zero(> or < or = or2l
(2)(-19;zero+(19)zero=............... (-1 orzero or 1 or 2l
( 3 ) The measure of the angle of the circular sector which represents f tto,

the area of the circle is ........'......

( 41 {Zero} w

( 5 ) The additive inverse of (- 3)2 is ...............

(6) 53 154 =...............
5t

( 7 ) lf x-3=l-7 | ,then fi= """""""'

( 30' or 60' or 90' or 45')

(eor#orCorQ)
(9or3or-3or-9)

(5 or 0 or 1 or 7l

(4 or 7 or 10 or 211

!t Corplete the fottowing :

( 1 ) ln the opposite figure :

The percentage of the shaded circular sector equals """""""' Yo

(2)*6 t-4 t-2 t , """""""'(in the same pattern)
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( 3 ) lf the perimeter of base of a cuboid is 10 cm. , its height is 4 cm. , then its
lateral area = "" ' cm?

( 4 ) Sample space for tossing a coin once =

( 5 ) The image of the point (2 r 1) by translation (X ,y - 3) is ( , .....,......... )

(6)-4[3+(-1)]=

[@ ant*er the following questions :

( 1 ) The length of the edge of the cube is 6 cm. , find its lateral area.

( 2 ) ta] Draw the triangle ABC where A (1 , 1)

,B(-3,-1)andC(0,-5)
, then find its image by translation

(5 ,0) on the graph.

[b] Find the solution set of the inequality : 1 +

( 3 )Abox contains 4 white balls r 7 redballs r one ball is drawn randomly. Find

the probability that the drawn ball is :

[a] White [b] Not white.

( a ) The following table shows poultry production four farms monthly :

The farm First Second Third Fourth

The ratio 40% 25% 20% 15%

[a] Represent these data by using the circular sectors.

[b] lf total production of these farms in one month is

12000 chicken. Find the production of the first farm.

2 x> 5 where xez
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Answer the following questions :

[E'"noose the correct answerfrom the given one :

( 1 ) The image of point (3 , - 2) bV translation (4 ,2) is """""""'

( (7 ,0) or (-7,0) or (-1 ,4) or (1 ,7)l

( 2 ) The measure of the angle for the circular sector of a quarter of the circle

equals ( 30" or 45' or 60' or 90" )

( 3 ) Which of the following can be probability of an event ?

(1.2 or 101 % or 50 or dt
( 4 ) The numberwhich satisfies the inequalityx -2> 3 is "' " """

(3 or 4 or 5 or 6)

( 5 ) A class of 50 pupils. lf the probability of success for those pupils at the end

year exam is 0.9 , then the expected number for the pupils who will success

equals

(6)(5)="'o="""""""'

(7)3 2

(9 or 45 or 50 or 251

(zero or 5 or 1 or 50 )

(e or # or C or ql

FE corp'"t" 
""ch 

of thefotlowing :

( 1 ) lf X (- 3 ,2) ,Y (- 3 ,4) , then the length of )(Y ="""""""' units.

( 2 ) The sum of edge lengths of a cube is 96 cm. , then its lateral area equals

" """""" cm?

( 3 ) The surface area of a circle of diameter length 20 cm. = """""""' fi cm?

(4)(- 1)2-1= '.

(5)25 t21 t17 t13:"""""""'

( 6 ) !n the given figure :

,.."........... (in the same pattern)
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p choose the correct answer from the given one :

(1)l-31+l3l= (zero or 1 or -6 or 6)

(2)lf X+1=2:thenfi=........'..'...whereXCES (3 or 1 or -1 or -3)
(3)35*32= (Zr or 310 or 33 org2)
( 4 ) N )Z- =..','....".." (Z or Z* or nS or Al
( 5 ) The number of integers between - 1 and 3 is """""""'

(6){zero} w

(-2 or -1 or 3 or -3)
(C or G or C or ql

( 7 ) The equation :2X-1= 15 is of the degree.

( first or second or third or fourth )

@ en"*er the following questions :

( 1 ) A box without a lid: in the form of a cuboid its length is 16 cm. , its width is

7 cm. : ofld its height is 19 cm. Calculate each of its lateral area and its total

area.

( 2 ) ln the experiment of forming a 2-digit number from the digits {3 , 5}.

Write the sample space , then find the probability each of the following :

[a] The event A is the units digit equals the tens digit.

[b] The event B is the tens digit is an odd number.

( 3 ) tal Find the result or, 5'l * 5=o

5/x50

[b] Find in Nthe set of solution of the inequality : 3 x-2 <7
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( 4 ) ta] Use the distributive property to find the result : 25 x 9 + 25 - 25 x 9

[b] ln the Cartesian coordinates plane

, locate the points

A(0, 4),8 (2, 1), C (* 2, 1),then

find the image ot ARAC

by translation (0 , - 2)

Answer the following questions :

[E anoose the correct answer :

( 1 ) The numberthat satisfies the inequality I x-2 > 3 is

(3 or 4 or 5 or 6)

( 2 ) lf the lateral area of a cube is 36 cm? r then its total area = """""""' cm?

(144 or 81 or 54 or 96)

( 3 ) The additive inverse of (- 5)2 is """""""' (25 or 5 or - 5 or - 251

(4lZ = N U (z* or T or {0} or al
( 5 ) The image of the point (- 3 ,4) by translation (x ,Y - 4) is ...'...'...""

(6)-s..............2

( (-3 ,0) or (-7 ,4) or (-3 ,8) or (-1 ,4))

(C or e or C or q)
( 7 )Acircle of diameter length 8 cm. ,then its area = """""""' ncm?

(4 or 8 or 16 or 641

xx'

y'

@trr" "orrectanswer:
( I ) lf S is the sample space of a random experiment, then P (S) = """""""'

(CI or zero or -1 or 1)

74

+- ,- / C

-a

_a

Cairo Governorate Ain Shams Educational Zone
Ahmed Esmat G.L.S.



Finol Exominotions

( 9 ) The number of faces of the cube = faces.

(6 or 8 or 12 or 4)

(10) The sum of the measures of the accumulative angles at the centre of the

(12) The equation : X3 + 1 = 10 is of the degree.

circle = ...............

(11) (- 1)3 +2=...'.'..."....

( 180' or 360' or 270" or 90" )

(3 or -1 or -3 or 1)

( first or second or third or fourth )

(1 or -1 or 3 or 2)

(2 or zero or 7 or 121

(13) lf x-2= 1

(14) l- 51+ 7 =

rthenX=

LE corptete:

( 1 ) The multiplicative neutral element inZis

( 2 ) ln the opposite figure :

The percentage of the shaded circular sector - ,,............. %

(3) lf X=l-12lry =-J rthen X+y ='........,.....

( a ) The sum of edge lengths of a cube is 96 cm.

= """""""'"m?

(5)(4x3+3)-(7x3)-

( 6 ) The probability of the impossible event equals

r then its lateral area

[@ ent*er the following questions :

( 1 ) Find the result o, ' 26-x 25

23 x2

( 2 ) Find the solution setof the equation:2x+9 = 5where xeZ
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( 3 ) Acuboid r its length is 6 cm. : its width is 4 cm. and its height is 8 cm. Find :

[a] lts lateral area. [b] lts total area.

(a ) On the coordinate plane :

Locate the points A (3 : - 2) ,8 (1 , 1) and C (3 , 1)

, then :

[a] Find the length of BC

[b] Draw the image ot ARnC Oy

translation (x+2,Y+3)

Answer the following questions :

EI anoose the correct answer :

( 1 ) The surface area of the circle = """""""' (n r2 or 2 tl, r or xl r I

( 2 ) The equation : x3 +1 = 2 isfrom """""""' degree

( first or second or third )

( 3 ) The sum of the measurements of angles around the center of the

circle is """""""' ( 180' or 360' or 90" )

(4)Thenumberthatliesbetween(-2)and(3)is (1 or 3 or -3)
( 5 ) The image of the point (3 ,2) bytranslation (x + 1 tY + 1) is

((2,2) or (4,3) or (2,0))
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( 6 ) The number that satisfies the inequality X> - 2 is ....,.....,....

(7){0} z

(-3 or -2 or -1 )

(€ or # or C or q)

[-E anoose the correct answer:

( 1 ) The measure of the angle for the circular sector of f of a circle =

( 180' or 360' or 90')
( 2 ) When tossing a die once , the probability of getting a number

more than 6 is """"""" ( 1 or 0 o, I I

(3)Thetotal areaofacube=areaofonefacex (4 or 5 or 6)

( 4 ) (- 1)B * (- 1)e = .,....,.....,.. (zero or 2 or 1 )

( 5 )Acube : its edge length is 2 cm. rthen its total area = """""""' cm?

(16 or 24 or 4l
(12 or 3 or 4l

( 1 or zero or 2l

( 6 ) lf 2x= 6 rthen \= """""""'
( 7 ) lf O is the empty set, then P @) = """""""'

l-E corntete :

(1 )z* )z- =

( 2 ) The impossible event its probability =

( 3 ) The greatest negative number inZis

(4)(-6) '(-4) =""'
( 5)Whentossing acoin oflce:thenthe probabilityof gettinga head is' "' ""'

(67 23 x-22 
= "" """""

2*

[-E on"*er the following :

( 1 ) A circle its radius length is 7 cm. r then find its area. (" = #)

( 2 ) A cuboid its perimeter of base 40 crTl, r and its height is 10 cm. r then find

its lateral area.
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( 3 ) Find the solution set of the equationinZ : 2 X + 1 = 9

(   ) The following table represents the percentage of the students who participated

in school activities :

Activity Social Sports Culture

Percentage 50% 2s% 25%

Represent this data by the circular sectors.

Answer the following questions :

p crloose the correct answer :

(41-6-l-ol=.
( 5 ) (- t)o * (- 1)5 = """""""'

(6127 * (- 3) = """""""'

( 1)Thenumberwhichsatisfiestheinequality x<-5is " " '

(-2 or 1 or -7 or 3)

( 2 ) The additive identity element in Zis (- 1 or 0 or 1 or 2l
( 3 ) The equation :3 x2 - $ = 14 is of ........:...... degree.

( first or second or third or fourth )

(0 or 1 or 12 or -121
( (- 11)11 or zero or - 1 or (- 1)2 |

(-9 or 24 or I or 81)

( 7 ) The area of the opposite figure is . . .. where fi = +
'l4cm.

( 150 or 77 or 40 or 100 )

[-E 
"noose 

the correct answer :

( 1) lf a + b =zero where a*b rthen a x b zero.

(2\ (-2)4,)= """""""' (-32 or 32 or 8 or 16)

( 3 ) Abox contains 4 white balls r 6 red balls : if one is drawn randomly r then

the probability that the drawn ball is red =
(+ ", ? ", t ", {t
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(4){o} . N (Cor#orqorC)
( 5 ) Measure of angle of the circular sector in which its area represents $ tro,

the area of the circle = """",'...'. ( 360' or 90" or 45' dr 80' )
( 6 ) lf a dice is tossed ohce r then probability of getting an odd number = ...,',,,..."..

(o or t or f or tl
( 7 ) lf A (-2,1)and B (3 ,1)Then the length of AB = """""""'Iengthinits.

(2 or 3 or 4 or 5)

[!t Corplete each of the foltowing :

( 1 ) The image of (-3 ,4)by translation (x,y -4) is ( ,..............)

( 2 )Acircle of diameterlength I cm. rthen its area = """""""' Xcm?

( 3 ) The solution setof inequality:-3 X > 3 rwhereXCN is

( 4 ) A class of 50 students r 40 students have succeeded in maths exam r then
the probability that the student has failed in maths exam = ......'........

( 5 ) The smallest positive integer number is ...............

and the greatest negative integer number is .."..".....'.

( 6 ) When tossing afair dice once r the probability of getting a number divisible

by 3 equals """" ' '

( 1 ) The tank of water in the form of a cube whose inner edge length is 2 metres.

It is wanted to paint it to prevent the rust : the cost price of one square

metre is 15 L.E.

Calculate the cost of painting.

( 2 ) tal Find the result o1 ' 
(- 3)1x (- s)5

(- 3)o x (- 3)

[b] Use the properties of multiplication of integers to find the r"esult of :

2x(-O)x500x3

( 3 ) Find the solution set of the inequality : - 3 x- 2<7, where xeZ
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( 4 ) One of the families spends as the following :

45 o/o for food ,30 o/o for rent and 25 o/o for other expenses.

Represent these data by using the circular sectors.

Answer the following questions :

[E anoose the correct answerfrom the following :

( 1 ) The sum of the measures of accumulative angles at the center of the circle

is. .... ( 90' or 180" or 360" or 540" )

( 2 ) The image of the point (- 3 ,4) by translation (x ,Y - 4) is ...'....'...."

((-3,0) or (-3,4) or (-3,8) or (-1,4))

( 3 ) Cube of edge length is 5 cm. , then its lateral surface area = """""""' cm?

( 100 or 150 or 200 or 250 )

( 4 ) The number which satisfies in the inequality : x> - 2 is .'.............

( 5 ) (- 1)15 * (- t;to = """""""'

(-1 or -2 or -3 or -41
(-2 or 2 or 0 or -1)

( 6 ) A cuboid of perimeter of base 10 cm. : and height 4 cm. r then its lateral

surface area = """""""'cm? (20 or 10 or 40 or 100)

( 7 )The equation :x2 +3x=4 isfromthe " " "' " degree.

( first or second or third or fourth )

@orrectanswer:
( 1 ) lf the probability of success of a pupil is 0.7 : then the probability of his

(3 or 0.3 or 7 or 0.03)

(z- or z+ or {o} or Es )

( 3 ) The solution set of the equation : X+ 5 = 9 rwhere Xeru

({14} or {4} or {-4} or al
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( 4 )The distance between the points (4 ,3) , (6 ,3) = """""""' length units.

(2 or 7 or 8 or 9)

( 5 ) When tossing a die ohce r then probability of getting a number greater

than 6 = """"""' (1 or 0 orf. orll
( 6 ) X - 2> 3 is an inequality from the degree.

( first or second or third or fourth )

(7)Thecircumferenceofthecircle =xf, x...'.....'.'.. ( r or 2r or r or r +21

LE "orptete:( 1 ) A cube of edge length 6 cm. , then the area of one face = .' .."........ cm?

( 2 ) The solution set of the inequality :- x-2 < 3 (X eZ)is
( 3 )Acuboid of dimensions 5 crT'r. r4 cm. ,3 cm. :then its lateral surface

area= """""""'cm?

( 4 ) The image of the point (- 3 , 4) by translation (1 , 1) is "" """""

( 5 ) lf 3x= 15 ,then x+ 1=...............

( 6 ) lf the probability of occurrence of an event i, ? ,then the probability of

non-occurrence of it =

@ enr*er the following :

( 1 ) A cube of edge length B cm. , find its total surface area.

(2)Find:5x2+)-3x4

(3 ) Find the solution set of the following inequality in Z:2= 3 x-'t < 8

( 4 ) The following table shows the number of studying hours that Ahmed

has done in a week :

Represent these data by a pie chart.

Subject Arabic Mathematics Science English Total

Number of hours 5 6 4 3 18
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Answer the following questions :

p crloose the correct answer :

( 1 ) The additive inverse of the number 7 is ...............

(21Z- s[ =

(-6 or 6 or -7 or 7l

(C or N or z* or z-l
( 3 ) The image of the point (2 , 3) by translation (3 ,2) is ...'...........

((6,5) or (5,5) or (5,6) or (3,2)l

( 4 ) The area of the circle where its radius length is 7 cm. is '...'....'...' cm?

where (" = ?) (154 or 49 or 88 or 141

( 5 ) lf A(4 ,5) and B (4 ,7) , then the length of AB = """""""' length units.

(9 or 3 or 2 or I )

( 6 ) The total area of cuboid = its lateral area + """""""'

( sum of perimeters of two bases or sum of areasrcf two bases

or the length or the width )

(7 ) Theequation :x2+6X=-8 isof ........... .degree.

( sixth or first or second or third )

E Ch"*e the correct answer :

(21?2)"(-4)=" ''
( 3 ) The sum of the measures of the accumulative angles around the center of

the circle = """""""' o ( 360 or 180 or 90 or 45 )

(4)lf x+2=Twherexez,thenr"="""""""' (6 or 4 or 5 or 3)

(5)2,4,8 
'16 , (in the same pattern)

( 6 ) (- tiloo + (- 1)101 =

(64 or 32 or 52

(0 or 2 or

(7 or 5 or(7) lf x-2 >3:whereeZ,then x>"""""""'

( 1 ) A coin was tossed oflce r then the probability of getting a head is ...............

(+ o, + o, + or 1)

(-2 or 2 or -B or 8)

or

1or
3or

721

3)

1)
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[E aorolete each of the folnowing :

( 1 ) lf lxl=6,then fi = """""" " or """""""

(21 12+ 20+ (- 12) = (- 12) + . ... + 20

( 3 ) The symbolic expression of X is greater than or equal 3 is ..... .

( 4 ) The number which does not belong to positive or negative integers is .....

( 5 ) lf 2L=6 where LeZ,then l- = "" "" "

( 6 ) The image of the point (4 , 5) by translation 3 units in positive direction of

X-axis is .., .

[El ont*er each of the followlng questlons :

( 1 ) Find the solution set of the inequality : x+ 5 < 7 where xCN

( 2 ) A cuboid shaped box with a square base its side length is 10 cm. and its

height is 2 cm. Find its lateral area.

( 3 ) Find the result of :

( a ) The following table represents the percentage of training hours for number

of players :

The player Ayman Salma Youssef Doaa

Frequency 40% 1n o/JV /O 20% 10%

Represent these data by using the circular sectors.

25 x23

26
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Answer the following questions :

! cnoose rne correc[ answer :

( 1 ) (- 1)B * (- 1)e =

(3)l-61+l6l=

(zero or - 1 or 1 or 2l
( 2 ) The total area of a cube = """""""' x area of one face.

(6 or 2 or 4 or 3)

(12 or -12 or 1 or 0)

(4)Thesolution setof equation:x+2 = 7:wherexeZ is " """"'
(-5 or I or 5 or -9)

( 5 )The image of the point (- 3,4) bytranslation (0 ,-4) is (.............. ,......'........)

((-3,0) or (-7,4) or (-3,8) or (-1,4))

( 6 ) lf the edge length of cube is 6 cm. : then its lateral surface area = """""""' cm?

(24 or 36 or 144 or 2161

( 7 ) When tossing a die once r then the probability of getting the number 5 = """""""'

(o or+ rrB or 1)

@ cr.o"" tt," 
"orrect 

answer :

(1lZ-Zo- = (z* or ns or {0} or al
( 2 ) The equation : x2 + 3 = 28 is of the degree.

( first or second or third or fourth )

( 3 ) 26 x 24 = (22 or 212 or 210 or 2241

(4)Theadditiveinverseof (-3)is""""""" (9 or 3 or -3 or 9)

( 5 ) lfX (3,8),Y (3,4),then the length of XY = """""""' length units.

(4 or 6 or 12 or 5)

( 6 ) lf the perimeter of base of a cube is 20 cm. r then its total atea = """""""' cm?

(7lz* )T =

( 100 or 150 or 200 or 2401

(z or a or N or {0})

E c"rP!.t" th" foltowing :

( 1 ) The probability of the sure evenf = """""""'

( 2 ) lf x+ 6 = 2 twhere XeZ, then \= """""""'

( 3 ) The sum of measures of angles accumulative around the centre of the

circle = """""""'
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(47 23 
"-zs = """ ""
2*

(5 ) lf X=l-12l rY =-J ,then x+y = """""""'

( 6 ) The circumference of the circle = """""""' x xl

LE ont*er the fotlowing :

( 1 ) Find the solution set of :3 x-7 
= 

5 where xez

( 2 ) A cuboid-shaped box with a square base its length is 10 cm. , and its height

is 7 cm. Calculate the lateral area.

( 3 ) ta] A circle its radius length is 7 cm. : calulate its surface area. (" = ?)

[b] Use the properties of addition operation in Z lo find the result of the

following :37 + 25 + 93 + 75

( 4 ) The following table shows the percentage of the favourite sports in a school :

Type of the sport Handball Basketball Football

Percentage 25% 35% 40%

Represent these data by the circular sectors.

Answer the following questions :

[-[ crloose the correct answer between brackets :

(1)(-1)8*(-1)e= .. (O or 1 or -1
( 2 ) The image of point (3 , 5) by translation (x + 2 ,y - 1) is

( (5 , 6) or (5 ,4) or (1 ,4) or

or 2)

(1 ,6) )
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(3)lf 2X=-8,thenxi=............... (N or A or T or Z*l

(4)ltZistheemptyset:thenP(O)=...".."...... (0 or 2 or 1 or 0.5)

( 5 ) The lateral area of cuboid has squared base its side length is 5 cm.

and height is 10 cm. ='.'.....'.....'cm? (250 or 2OO or 150 or 300 )

5/

( 7 ) The equation :2X2 + 5 = 15 is of the...............degree.

( first or second or third or fourth )

l.-E 
"no"se 

the correct answer:

( 1 ) Lateral surface area of a cuboid = perimeter of base x ...............

( volume or length or weight or height )

( 2 ) The length of radius of a circle 7 cm. r then the surface area of the circle

= "" """"" n cm? (7 or 14 or 21 or 49)

( 3 ) The edge length of a cube = 5 cm. rthen its total surface area= """""""'cm?

(25 or 125 or 100 or 150)

( 4 ) The integer which satisfies the inequality : X > 5 is

(2 or 3 or 4 or 6)

(5)lf X+4=3whereXeZ,theng=......-...--... (-1 or 1 or 3 or 7l

(6)Theintegernext(-3)direct|yis.............. (2 or -2 or 4 or -4)
( 7 ) The measure of central angle of sector which represents $ "r", 

of surface of

circle =..'....'....'.. (120" or 60" or 90" or 150. )

[-E cornlete the following :

( 1 ) The next number in the pattern (1 ,1 '2 ,3,5 r...............) is

( 2 ) lf lateral surface area of cube 100 cm? , then total surface area = """""""' cm?

( 3 ) lf X= 1 and y = -) :then 4 Xy = """""""'

(4)3+(-5)="""""""'

( 5 ) lfX (-3,2) tY(-3, -4),then length of XY = """""""' length units.

( 6 ) The probability of appearing an even number when tossing a regular die

once is
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[Eont*er the following :

( 1 ) Find solution set of inequality :2 X+ 9 < 1 where xeZ

( 2 ) Find by using properties of addition and write the using property :

(-17)+25+17

( 3 ) lf the lateral surface area of a cuboid is 120 cm? , and the perimeter of the

base is 20 cm. , find its height.

( 4 ) The following table shows the percentage of production of a factory for

three kinds of electric water heaters :

Type First Second Third

Percentage 15% 30% 55%

Represent these data by the circular sectors.

Answer the following questions :

[E "noose 
the correct answer :

( 1 ) The measure of the angle for the circular sector of third of a circle is ............... o

( 90 or 120 or 180 or 360 )

( 2 ) The height of the cuboid its lateral area is 120 cm? r and dimensions of its

base are 6 cm. and4 cm. = """""""'cm. (2.5 or 5 or 6 or 12)

( 3 )The image of point (3 ,- 1)bytranslation (x+ 1 'y 
*1) is...............

((4,-2) or (5,-1) or (5,-3) or (-3,-1))
(A orT oras orru)

(DV or @ or T or Z*7
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( 6 )Acube, its edge length is 10 cm.,then its total area = """""" " cm?

( 200 or 400 or 500 or 600 )

( 7 ) The solution setof the inequality:1 <x< 4:wherexCNis...............

( {1 ,2,3} or {- t} or {o ,- t} or {o} )

[-E "orPlete 
the following :

( 1 ) The event is a subset of the

( 2 ) lfA(- 3, 1) and B (- 3,5),then the length ofAB = """""""' units.

( 3 ) The additive inverse of zero is .. .... .. .

( 4 ) lf X is an odd number r then (x + 1) is an number.

( 5 ) A circle of area 25 x cm? r then its circumference is ..............' x[ cm.

(6)Theequation:x3+ 4=5 isof the degree.

[p cr,oose the correct answer :

( 1 ) lf a fair die is thrown orce : the probability of getting a prime odd number

is.. . (+or +or *or zero)

(2)Acircleof adiameterlength 14cm. rthen itsarea= """""""' cm? rwhere fi=+
(154 or 44 or 128 or 70 )

( 3 )Acuboid of dimensions 4 cITr. :3 cm. and 5 crl. rthen its lateral area

= """""""' cm? ( 60 or 14 or 70 or 121

(4l22*22=y'n"":" (4 or 2 or 1 or zero|

(5 ) 1 t8 t27 ,64 , (in the same Pattern)

(225 or 192 or 128 or 1251

(6)lf7X=28,thenfi="""""""' (4 or 6 or 7 or -8)
( 7 ) The greatest integer that satisfies the inequality 5 x < 0 is "" """"

(zero or 1 or -1 or 5)

Ei**"t the following questions :

. ( 1) Findthesolution setof theequation:2x+9 = 5 rwherexe%

( 2 ) Find the result 
", +4-
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( 3 ) ln the coordinates plane r find the image

of AB , where A(2 ,3) and

B (- 2 , 0) by translation (X + 3 ,y - 2)

( 4 ) The following table shows the favorite TV programs for some pupils :

TV programs Sports News Series Movies

Number of pupils 15 5 10 30

Represent these data by a pie chart.

Answer the following questions :

[E 
"noose 

the correct answer:

( 1 ) The next integer of the number * 7 is

(-8 or -7 or -G or 7l
( 2 ) The equation :3 x- 2 x3 = 5 is of the """""""' degree.

( first or second or third or fifth )

( 3 ) lf Z is the impossible event : then P @) = """""""'

(zero or 1 or 0.5 or Al
( 4 ) The number which satisfies the inequality x- 3 > 3 is ... .... ....

(-2 or -3 or 6 or 7l
(5)Thesurfaceareaofthecircle=xlx (r or 2r or 12 or d)

( 6 ) The solution set of the inequality:x <2in N is ... ..... ..

(7tz*-tu-= 1'l 'o' ) or {z't'o}:;*''*o:'K'lr'o}.',

( \ y : 1; \ d / jir+l r / (Worksheets & Examinations) ou -q-r1fldl 89
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[E "orrlete 
the followins :

( 1 ) lf x+ 6 =2 t XeZ tthen 5 fr=.......'...'...

(2llf the perimeter of base of a cube is 20 cm. , then its total area = """""""' cm?

(3) lf A(-3,1),8 (4,1),thenthe length of AB= """""""'units.

( a ) The solution set of the inequality:x -2>3inZ is ...............

( 5 ) The probability of getting a number 5 when tossing a die once = """""""'

( 6 ) The image of the point (- 3 ,2) by translation (2 , 1) is

[E 
"noose 

the correct answer :

(1)+ x75 = (fs or 710 or 1 or o)

(2)Thegreatestnegativeintegeris""""""" (-1 or 0 or 1 or A)

( 3 ) A cube of total area 54 cm?, then length of its edge is """""""' cm.

(4)-32+1=

(3 or I or 27 or 3241

(-10 or -8 or 8 or 10)

(-18 or -9 or 9 or 18)( 5 ) lf I- 9 I = X tthen X= """""""'

( 6 ) The image of point (- 3 , 4) by translation (X ,y - 4) is

((-3,0) or (-7,4) or (-3,8) or (-1,4))

( 7 ) The sum of measures of the angles of the sectors about the center of the

circle="""" "'o ( 90' or 180" or 270" or 360')

tEl Answer the foltowing :.^.^ 
,. a

( 1 ) Find the result ot , *fll% (Show your steps)
(2) x (-2)-

( 2 ) ln the opposite figure :

ABCD is a rectangle its length is 12 cm.

and its width is 10 cm. r calculate the area

of shaded part. (Show your steps) (rr = 3.14)
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( 3 ) Ia] Abox in the shape of a cuboid without a lid, its length 9 cm., width 5 cm.

: height 10 cm. Calculate its total area. (Show your steps)

[b] Use the distributive property in Ztofind the value of :

78x115-78x15

( 4 ) The following table shows the percentage of the production of factory of

house electrical sets :

Kind of set Washing machine Heater Oven Mixer

Percentage 25o/o 15% 40o/o 20%

Represent this data by the circular sectors.

Answer the following questions :

I cr.oose the correct answer:

( 1 ) (-5)2 x (5) = ..'.."...'...' (52 or 53 or 54 or 5)

( 2 ) The integer that lies between - 4 and - 1 is

(-1 or -4 or 1 or -3)
(3)lf 2x+10=22tXeZ,thenfi=............... (1 or -2 or -3 or 6)

(   ) The next number in the pattern .. 1 t 4 ,9 ,16 , ............... is ..............

(20 or 25 or 27 or 30 )

(5) lf x={X:XCN ,2<X.4} rthenX=............... (2 or 3 or A or 4)

( 6 ) lf the radius length of a circle is 7 cm. , then the area of the

154 |
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(7)24x50+24x.........'....'=24x56 (24 or 56 or 5 or 6)

,@ Cnoose the correct answer :

( 2 ) The number satisfies the inequality X > -2 t XeZis
(-3 or -12 or -2 or 3)

( 3 ) The lateral area of a cube whose edge length is 4 cm. = """""""' cm?

(16 or 4 or 64 or 16)

(4)lf 4x+4=4 rthenfi=.....'."""" (1 or 2 or 0 or 4l
7_7(51+.......-.......2 (c or G or e or e)

(6)ThemultiplicativeidentityelementinZis (0 or 1 or 2 or 3)

( 7 ) When tossing a dice ohce r then the probability of getting a number less

than1is.............. (0 or 1 or 2 or 3)

@ enr*er the following :

( 1 ) Use the distributive property to find : 25 x g + 25 x2 - 25

[Ec"rpt"t"'
(1lZ-fl-=Z+U
(2 ) The image of the point (4 ,-2)by translation (x+2,Y -1) is............'.

( 3 ) The sum of measures of the angles of the circular sectors about the center

of the circle = """""""'o

( 4 ) lf S is the sample space of a random experiment :then P (S) = """""""'

( 5 ) The multiplicative inverse of (- 5) = """""""'

(6) ....+359=359+125

( 2 ) Find the resutt or , L$(with steps)
(4)''

( 3 ) Find the S.S. of equation'. 2 x+ 8 = 16 in each of Z and [S
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(  )The following table shows the percentage of the production of a factory :

The device type Washing machine Heater Oven Mixer

The percentage 30% 15% 40% 15%

Represent these data by the circular sectors.

Answer the fo!lowing questions :

[E "noose 
the correct answer :

(1lZ* U {O} =............... (Z- or Z or n$ or Z* |
(2)lf X+1=StXeNrthenX=............... (2 or 4 or 6 or 8)

(3)Thesurfaceareaof acircle=fix (r or 12 or 2r or 3r)

( 4 ) The sum of measures of the angles of the circular sectors about the center

of the circle - """""""'o

( 5 ) (- 1)3 * 1 = """ "'

(6)l-5I+$="""""""'

( 90 or 180 or 270 or 360 )

(-1 or 0 or 2 or -21
(0 or 5 or 10 or 2Ol

( 7 ) The image of the point (- 1 ,2) by translation (- 2 ,3) is """""""'

((3,-1) or (-3,5) or (3,2) or (1 ,3))

,@ ComRlete the following :

( 1 ) lf the perimeter of the base of a cuboid is 10 cm. , its height is 4 cm.

, then its lateral area = ' cm?

(2 )The solution setof the equation:2X=4 tXeD$is { }
( 3 ) The total area of a cube of edge length 4 cm. = """""""' cm?

( a ) The probability of the impossible event = """""""'

( 5 ) 1 ,4 ,7 ,10 , (in the same pattern)

( 6 ) The descending order of the integers :

0 r-7, 3 is........'...... r....'..'.'..... r.'.............
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[E 
"noose 

the correct answer :

( 1 ) When tossing a coin ooce : then the probability of getting a head = ............."

(* or + or + or lt
(2)Thegreatestnegativeintegeris.............. (0 or -1 or -2 or -3)
( 3 ) The image of the point (- 3 ,4) bytranslation (x ,y -4) is...............

((-3,0) or (-7,4) or (-3,8) or (-1,4)l

(4)l=11 I ru (G or#or c or Gl

( 5 ) The number which satisfies the inequality : X > - 2is ...............

(-1 or -2 or -3 or -4)
(6)TheadditiveidentityinZis (-1 or 0 or 1 or 2)

( 7 ) lf A(1 ,1) , B (3 ,1) ,then the length of AB = """""" " units.

(1 or 2 or 3 or 4l

|.Eun"*er the fo!lowing questions :

( 1 ) Find the solution set of the inequality: 5 x- 1> 4 (where xeZ)

(2 )Abox in the shape of a cuboid , its length is B cm. , itswidth is 6 cm. and its

height is 7 cm. , find its lateral area and its total area.

( 3 ) Find the resutt of , tf
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( a ) The following table shows the percentage of the favorite sport for the pupils

in one of the schools :

The favorite sport Football Handball Basketball

The percentage 500/, 30% 20%

Represent these data by the circular sectors.

Answer the following questions :

[E anoose the correct answer :

(1)(-1)3-1=""""""' (-2or0or1or2)

(20 or 24 or 40 or 52)

(ru or z+ or Es or Al

(2 ) The lateral area of a cuboid of length 3 cm. rwidth 2cm. rand height4 cm.

(4)Acircle its radius length is4 cm. rthen itsarea =............... ncm?

(8 or 16 or 64 or 2r\
( 5 ) The numberwhich satisfies the inequality:x -2> 3 is...............

(3 or 4 or 5 or 6)

( 6 ) lf a + b =zero rwhere a#b,then a x b zero.

( 7 ) A fair die is thrown ohce r the probability of getting a prime number is ..... .........

( * or + or + or zero'tr

LE anoose the correct answer :

( 1)Theequation :x3 +4=5 isof the degree.

( first or second or third or fourth )

( 2 ) The measure of the angle of the circular sector which represents f of

the circle ='.,............ ( 45" or 60" or 90. or 190. )

(3)Theadditiveinverseof(-3)2is............. (9 or 3 or -3 or -9)
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(41 +,+,+, ""(inthesamepattern) (10 or #
( 5 ) lf Z is the empty set , then P @) = """""""' (zero or

( 6 )2300 c ?="""""""' dm? (23 or

or

0.5

230

1

14

or

or

or fil
1 or2l
2 or 3)

( 7 ) The image of the point (4 :5) by translation (0 , - 4) is '...'.. . ..'

( 2 ) The perimeter of one face of a cube is 12 cm. , then its total area =

( 3 ) The height of a cuboid whose lateral surface area is 400 cm? r and its base

is a square of side length 10 cm. = """""""'

( 4 ) A circle its diameter length is 7 cm. r then its area =

( 5 ) 32 x32 x0 - """""""'

( 6 ) A box contains 9 white balls and 3 red balls r one ball is selected randomly

r the probability of the selected ball being white is .. '.......'...

Find the area of shaded part.

-14cm.-

((4,9) or (5,1) or (4,-1) or (4,1)l

( 1 ) lfa = 3 rb=-2 rthen 3 ab =

p Corplete the foltowing :

@ en"*er the following :

( 1 ) In the opposite figure :

( 2 ) Find the solution set of the equation : 3 -2 x= 9 :where xeZ

( 3 ) A box without lid , in the form of a cuboid its length is 10 cm. : its width

is 7 cm. : and its height is 9 cm. r calculate its lateral surface area and its

total surface area.
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( 4 ) The following table shows the money in percentage of the production of

a factory of house electrical sets :

Kind of set Washing machine Heater Oven Mixer

The percentage 30% 15% 40% 15Yo

Represent these data by the circular sectors.

Answer the following questions :

@ crloose the correct answer :

(1lZ*az- =."'.."....... (Z or 1 or -1 or 2l

(2)Thegreatestnegativeintegeris.............. (1 or 0 or 2 or -11
(3)lf -3x=9,thenfi=............... (3 or -3 or 6 or 121

(4)35x32= (37 or 310 or 33 or ao)

(5)Theprobabilityofthesureeven{=...".."'..... (0 or A or 1 or 2l
( 6 )Acircle, its radius length is 7 cm. rthen its area = """""""' n cm?

(7 or 49 or 22 or 44)

( 7 ) The image of the point (2 ,5) bytranslation (x+ 2,y- 5) is ..............

( (4 ,0) or (0 ,4) or (2,5) or (5,2))

,@ cnoose the correct answer :

( 1 ) The leteral area of a cuboid of length 3 cm. rwidth 2 cm. r and height4 cm.

= """""""'cm? (20 or 24 or 40 or 52)

(2 ) lf a fair die tossed ohc€ r then the probability of getting an odd number

(o or 1 or + or ft
( 3 ) The total area of a cube = area of one face x

(2 or 4 or 6 or 8)

AB
-4-3-2-',t 0 1 2 3 4

(2or0or4or-41

( 4 ) In the opposite figure :

The distance between the two

pointsA: B = """""""' units.
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(5)lf x+5<5,thenxe.............. (N or a or ru+ or z-)

( 7 ) The solution set of the inequality : 2 x + 5< 7 where XCN is ....... .... ..

({0} or {o,t} or {t} or {0,t,-1})

[P corptete each of the following :

( 1 )ttX+ 6 =2where XeZ,then \= """""""'
( 2 ) A cube of edge length 10 cm. , then its lateral area =

(3)z. U {o} = "
( 4 ) The multiplicative identity element inZis

( 5 ) lf A isthe empty set , then P @) = """""""'

(6 ) ttX (-3 ,,2),Y (-3 ,4),then the length of XY = """""""'length units,

@ enr*er the following :

( 1 ) Find the solution set of the inequality: 3 x-T > 8 where xeZ

(2 ) Find the resutt "r,{$q

( 3 ) n cuboid shaped box with a square base its side length is 6 crn. r and the

height is 10 cm. r calculate the total area.

( 4 ) A box contains 40 balls r 8 balls are yellow r 12 balls are red and the

reminder is black , if a ball is drawn randomly.

' 
Find the probability that the drawn ball is :

lal Black. [b] Not red.
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Answer the following questions :

@ crroose the correct answer :

(1 1 32 + 32 + 32 = ............... ( 33 or 36 or 32 or z3l

( 2 ) The solution set of the equation : x* 8 = 0 in.Zis ..............

({-B} or {-z} or {z} or {8})
( 3 ) The numberwhich satisfies the inequality:x > -2 is """""""'

(-4 or -3 or -1 or -21
(   ) The image ofthe point (3,-2)bytranslation (- 3,2)is . . . ....

((0,0) or (2,0) or (3,0) or (6,4))

( 5 ) The measure of the angle of the circular sector whose area represents ]
from the area of the circle = ....".....".. ( 90' or 180' or 270" or 360" )

( 6 ) When tossing a dice ohce , then the probability of getting a number 5

(zero or 1 o, * o.fil
(z- or z+ or CI or {0} )

l-E corUete :

( 1 ) lf (S) is the sample space of a random experiment r then P (S) =

( 2 ) The additive inverse of (- 4)2 is ...............

( 3 ) The surface area of the circle = """""""'

( 4 ) (- 1B;zero + (18)zero = """""""'

( 5 ) lfXC {2,-3} n {5,-3},then X = "..','..."...

( 6 ) A cuboid its lateral area is 60 cm? r and its height 6 cm. , then the perimeter

of its base = """""""'

[E 
"*"ose 

the correct answer :

( 1 ) The probability of the impossible event =

(1 o, + o, + or zero)

(2)Acubeof edgelength 3cm. ,then itstotal area= ' cm?

(45 or 18 or 54 or 27 I

99



Finol Exominotions

( 3 )The sum of measures of the angles of the sectors about the center

of the circle = """""""' ( 90' or 180' or 270" or 360' )

(4)lf x+2=l-4l,then fi=............... (-6 or -2 or 2 or 6)

(5 )The equation :4 x2 t 2= 6 is of the......,...,,...degree.

( first or second or third or fourth )

(6120 Ev = (z or z* or {o} or N )

( 7 )lf X (-3 ,-2),Y (- 3,4),then the length XY = units.

(6 or 5 or 7 or 2l

,ElAnr*er the following I _."

( 1 ) Find the resutt "r.$fjr

( 2 ) A circle of radius lengh 7 cm. , is divided into 7 equal circular sectors.

Find the area of each circular sector. (" = ?)

( 3 ) A cuboid shaped box with a square base its side length is 9 crn. : and the

height is 20 cm, Calculate the lateral area.

( 4 ) The following table shows the percentage of the production of a factory of

house electric sets :

The kind of set Heater Oven Mixer TV

The percentage 15% 50% 25% 10%

100

Represent these data by the circular sectors.
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Answer the following questions :

[E "noose 
the correct answer :

(1){-3,+} z (€ or G GI

1B)

or {2} )

I o, 1)

orcor
(-42 or 42 or - 18 or

( 3 ) The image of the point (- 4 ,3) by translation (- 1 , - 4) is """""""'

((-5,-1) or (-4,-1) or (5,12) or (-3,-T))
((-1)101 or -2 or 2 or zerol

(2) [5*(-2)] x(-G) =

( 4 ) (- t;1oo + (- 1)101 -

(5)lfx+3=5tXeZ-
({8} or a or {-2}

( 6 ) When tossing a die once , then the probability of getting an odd

number = ............... (zero or L o,

(7) lf A(2 t2)and B (6,2) ,thenAB = length units.

(2or6or8or4l

, then the solution set is

ECorPlete each of the following :

(11ru* u {o} u z- =

(2) lf 5 X= 10 : then \= """""""'
( 3 ) The probability of getting a tail when throwing a coin once is ...........'...

( 4 ) The total area of a cuboid is 32 cm? and its lateral area is 12 cm? r then the

area of its base is ....'.....'.... cm?

( 5 ) The degree of the equation :2 X+ 1=7it....,:.'...".

( 6 ) The area of the circle whose radius length is 7 cm. = """""""' cm?

(consioer 
" 

= +)

[p crloose the correct answer :

( 1 ) Which of the following represent an equation ?

(x-17 or x>-11 or x+3=5 or 3xl
( 2 ) A cuboid shaped box with a square base its length is 10 cm. , and its height

7 cm.: then its lateral area = cm? 1 ZaO or 700 or 70 or 17 |
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(3)lfa<b,then-5a -5b
( 4 )Acircle its diameterlength is 6 cm. ,then its surface area = ncm?

(9 or 113.03 or 28.26 or 3 )

(5 )The numberwhich satisfiesthe inequality:x-3 > 4 is.... . ..

(3 or 5 or 7 or 9)

( 6 ) lf the lateral area of a cube is 36 cm?,then its total area = . . cm?

(3 or I or 54 or 36)

( 7 ) The measure of the circular sector whose area represents f trom the area

of the circle = """""""' ( 45" or 90' or 180' or 360" )

1@ An"*er the following questions :

( 1 ) A cube whose edge length equals 10 cm.

Calculate its lateral surface area and total surface area.

( 2 ) Find the result ,t , tJf
2u x2

( 3 ) Find the solution set of the inequality: 3 x-2 ) 4 where xeZ
Then represent it on the number line.

( a ) The following table shows the percentage of the favourite sports of students

in your class :

The favourite sport Football Basketball Volleyball

The percentage 50% 35% 15%
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Answer the following questions :

@ crloose the correct answer :

( 1)Theequation :x2-4=O isof the degree.

( first or second or third or fourth )

( 2 ) The numberwhich satisfies the inequality : x > -2is """""""'

(-2 or 1 or -3 or -4)
(8 or 6 or 3 or 121

(ru or Z* or ns or C)

(-g or 24 or 30 or -3)
(0 or 2 or -2 or 1)

(16 or 63 or -2 or 2)

( 3 ) lf x- 1= 2 , then 4 X=

(4)Z-Z- = " "" """
(5) 27 * (- 3) = """""""'

(6)(-1)7-e1)6= '

(7)e-l-71-

Choose the correct answer :

( 1 )The imageof the point (3 :5) bytranslation (x+2,Y-1) is. . '

((5,6) or (5,4) or (1 ,4) or (1 ,6) )

( 2 ) The number of axes of symmetry of square is ......,, ......

(1 or 2 or 3 or 4l
(3)Thecircumferenceofthecircle="""""""'xfi(r or 2r or 12 or r+2l
( a ) The geometric transformation d)tC: is ..'....-irh.r-* 

or reflection or translation )

( 5 ) The probability of the impossible event is .. ....'.. .

(A or 1 or 2 or zerol

( 6 ) The volume of a cube is 1000 cm? , then its total area = """""""' cm?

( 10 or 600 or 6000000 or 6000 )

( 7 ) lf A(- 4 t4) ,B (1 ,4), then the length of AB = """""""' units.

(-5 or 5 or 3 or -3)

( 1 ) - 4 ;0 t4 t............... ,..'..'....""'(in the same pattern)

( 2 ) The set of counting numbers less than 1 is ..'....... .. .

(- 8)3 x 8a(s)-(jf-= '

@ Complete each of the following :
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( 4 ) lf T - -2, then \= .......'.......

( 5 ) A cuboid shaped box with a square base its length 9 cm. and its height is

20 cm. r then its total area = . .. . '.. cm?

( 6 ) ln the oppostie figure :

Measure of the central angle

of shaded sector = ............". 
o

3x-(-9)=3,,Weru)
@ Anr*er the foltowing :

( 1 ) Find the solution set of the equation :

( 2 ) The circumference of a circle is 44 cm. , find its area. (" =?)

( 3 ) Find the solution, set of the inequality :2 - 3 x> S , (x€.2)

(   ) The following table shows the number of hours that Nahed spent for revising

the different subjects weekly :

Subject Arabic English Maths Science Social studies

Number of hours I 6 7 5 I
Represent the previous data by using the circular sectors.
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Answer the following questions :

p cnoose the correct answer :

( 1 ) The smallest natural number is ...............

(2 ) lf x-2 = 3 ,then x= """""""'

(3) lf -3x<30 rthenx (-10)

(0 or 1 or 2 or 3)

(-5 or -1 or 1 or 5)

( 4 ) The number which satisfies the inequality : x > - 2is ...........,...

(-4 or -3 or -2 or -1)
( 5 ) Acube of edge length 6 cm. r then its total area="""""""' cm?

( 36 or 72 or 144 or 2161

( 6 )Acircle itsdiameterlength is4 cm. ,then its area = """""""' ficm?

(B or 16 or 64 or 4)
( 7 ) The probability of occurrence of the impossible event - '....'......".

(A or zero or 1 or It
[p cr"toose the correct answer :

( 1 ) The equation : X2 + 3 = 4is of the ....:.......... degree.

equals

( a ) The additive identity in N is

( 3 ) When tossing a die ooce r then probability of getting a number divisible by 5

( first or second or third or fourth )

(zero or - 1 or 1 or 2l

(o o, + or f; or 1)

(zero or - 1 or 1 or 2l
( 5 ) lf X is an even number , then x-2 is ... .. ...... number.

( odd or even or prime )

( 6 ) The total area of a cube is 324cm?, then the area of face = ...............

( 54 cm. or 81 cm? or 54 cm? or Bl cm. )

( 7 ) Two numbers their difference is 5 and the smaller is X , then the greater

ts ............... (5X or 5-X or X-5 or X+5)

[p corplete:
( 1 ) Measure of angle of the circular sector in which its area represents f tro,

the area of the circle = """""""'

(21Z* -ru = "" """
(3) lf X(-3 ,2) tY (-3,4) ,thenthe length of XY = "" "" length units.
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( 4 ) lfX + 3 =l-7 l,then f, = """""""'

( 5 )The image of the point (2,- 1)bytranslation (x-1,y + 3) isthe piont

( ,..............)

( 6 ) The lateral area of a cuboid of length 3 cm. : width 2 cm. and

height 4 cm. = """""""' 
"r?

[_E 
ont*er the followins :

( 1 ) Find the solution set of the inequalily:2x+ 1< 5 where xCnS

( 2 )Acuboid : its length is 6 cm., its width is 4 cm. and its height is 8 cm. Find :

[a] its lateral area. [b] its total area.

( 3 ) Find the result of :

(- 3)3 >< (- 3)4

(- 3)5

( 4 ) ta] Abox contains 25 balls, 6 balls are yellow r 7 balls are red and the

remainder is balck r if a ball is drawn randomly r find the probability that

the drawn ball is :

[1] Black = """""""' tzl Not red =

[b] Reperesent the following data using circular sectors :

Washing machineThe kind of set Heater Oven Mixer

The percentage 25% 15% 40% 20o/o
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Answer the following questions :

I cr'toose the correct answer from those given :

(Z* or Z- or tOl or C )

(1 or -1 or zero or 2l
( 3 ) The degree of this equation i x-7 = 1 is degree.

( fourth or third or second or first )

( 4 ) lf X+ 6 = 2 r then x= """""" "'where XeZ
(-2 or 6 or -4 or 4)

( 5 )Acircle its radius length is 7 cm. ,then its area = """""""'"rn? (n = +)
(140 or 154 or 49 or 1491

( 6 ) The total area of cube = Area of one face x

(2 or 4 or 6 or 8)

( 7 ) The sample space for tossing a coin once =

({1 ,2} or {red ,yellow} or {odd ,even} or {Head ,Tail} )

[-E "orPlete 
the following :

(1)(-32)+8- " "

(21 1 ,3 ,5 ,7 ,t ........... . (in the same pattern)

(3)Thesolution setof x-3 < 1 is wherexeE$

(412. U {0} Uru- = '

(5)The imageof the point(...............) ) bytranslation (x+3,Y+4) is

(5 ,3)

( 6 ) In the opposite figure :

The distance between the

pointsAand B = """"""" units.

AB
-3-2-10123

[!t choose the correct answer from those given :

(1)3 (-6)

(2)z* )z- =

(< or

(Z or Z*

(E{ or Z-

=or
orA
orru

or z-)
or z*l(3)z-Es-

Aswan Governorate Aswan Educational Directorate
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( a ) The image of the point (1 , 3) by translation ( , .. .....'...) is (1 , 0)

((1 ,0) or (0,3) or (3,0) or (0,-3))
( 5 ) The total area of the coboid = the lateral area + area of base x

(2or3or4or5l
( 6 ) The image of the point (- 3 ,4) by the translation (X ,y - 4) is

((-3,0) or (-7,4) or (-3,8) or (-1,4)l
( 7 ) When tossing a coin onGe r the probability of getting a head is ...............

(zero or 2 or I o, fl

[-E on"*er the following :

( 1 ) By using the properties of addition operation in Z ,

find the resutt:2015 + 190 + (_ 1015)

( ' ""'property)

( "" property)

( 2 ) Find the solution set of the inequality:x -2> 3 where xeZ

( 3 ) Acuboid its length 9 cm. , itswidth 6 cm. and its heightB cm.

Calculate its lateral area.

( a ) The following table shows the percentage of production of factory for three

kinds of electric water heaters :

The kind First Second Third

The percentage of the production 25% 35% 40%

108
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@t,t-
tbt '.

30 - 6 + 3 = -30 -2= -32
x-2>3 ... x>3+2 ... x>5
The S.S. = {5 ,6 ,7 ,...} 

_

-1 012 3 4 5 6 7

@r"t.2x+s=s .'.2x=s-s
...2x=-4 ... *=| .. x=-z
... rhe s.s. = {_ 2}

[b] The area of rectangle = B x 7 = 56 cm?
22

The area of cicte=i x (3.5;2 = 38.5 cm?

The area of the shaded part

= 56 - 38.5 = 17.5 cm?

@ trt trt Bc = 4 lensth units

(2lA(2,3)--_A12,-l;
B(4,3).+e'14,-11
c (4 ,7) *B (4 ,3)

[bl The measure of the central angle

of cultural = ,fu , SAO" = te"

The measure of the central angle
lq

of sports = lffi x 360" = 102"

The measure of the central angle

otsocial=#x360"=54'

The measure of the central angle

ot a*s = -ffi, 360. = 126"

l

1

Spofrs

r.Iltillrrtr
O (t) r"ro (2) (- 3 , o) (3)C (4lzero

Etrle et-A (3)6 $t +

0 trt + x 9+9-21 = 36 + 9 -21 = 4 -21 = - 17

lbl ...x-2>3 ...x>3+2 ;.x>5

.'. The S.S. = {5 ,6 ,7 ,...}

@ t"] fn" lateral area = 10 x 4 x 7 = 280 cm?

[b] . 88=2nr :.r=:9r=Mcm.

... rhe area =! ^ oo,,'lJu "-:
@t"t'.' 3x+e=3 .'. 3x=3-9

.?Y=-o *=:9 ,v=-,

... rhe s.s. = {_ 2}

[b] The measure of the central angle of
.30

washing machine = ffi r 360'= 108'

The measure of the central angle of heater

= ffi, soo. = s+.

The measure of the central angle of oven

=#x360'=t+a'
The measure of the central angle of mixer

= f# * 360'= s+'

X@IE
Oor- (212r (3) * (4)- 1

@i,'taq

50

54 .roao

(2)c (3) 5 (4) +

Answers of model examinations
ofthe school book



Otrla eto (3) 1 (4)40

@ttlz' etl (3)rs $t +

Qlrl t,rl (2) (r) (3) (r) 6't o/)

@tr) aoo" tz) e (3) {o ,1 ,2} (41(4 ,4)

@ Irl fh" totut area = 6 x 42 = 
gG cm3.

The lateral area = 4 x 42 = 64 crrt

^3 +a

tbt?=2'=4

Answers of Finol Exominotions

Model examination for the
special needs students

5'l
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Il
Ottlz tztl

(4lnr2 (5)0
(7 la

Etrl'
(4 )c
( 7 ) 10

@trlzs
(4){H,T}

@( f ) fh" lateral area = 6 x 6 x 4 = 144 cm?

(2)talA(1 r1)__*[16,11
B(-3 r-1).....*B=(2 '-1)
C(O'-5)*i(S,-S)

lbl .. 1+2x>5 .'.2x>5-1
.,2^>4 ,.x,+
. v>U

... The s.S. = {z ,s ,l ,...}

( 3 ) [a] The probability that the drawn ball is
L

wnre = ii
lbl The probability that the drawn ball is

7
nor wn[e = li

(   ) [a] The measure of central angle of first
40

farm- 
1OO ^360"=144"

The measure of central angle of

(3),,i-{0}
(6)-2

(2)2 (3)e0'
(5)-e (6)1

1210,2 (3)40

l5l(2,*2) (6)-8

52

second farm = ffi r, eOO'= OO"

The measure of central angle of

third farm = ffi *rc0. =tz"
The measure of central angle of

fourth farm = ffi * SOO" = S+"

[b] The production of 1 "t farm

=ffi'1ZOOO=4800chicken

a
@{ r )tz ,o)

(4)6

Fte

(2)eo' (3)50

(5)45 (6)1

@trtz
(4)0

(21256 (3)100

(5)e,5 (6)35

Ott lo
(4lo
( 7 ) first

(3)33

(6 )c
(2}.1

(5)3

@ ( r ) ft'" perimeter of the base

=(16+7)x2=46cm.
The lateral area = 46 x 19 = 874 cm?.

The total area = 874 + 16 x 7 = 986 cm?

(2)S={33,35,53,55}

ta1e1n;=f,=1

tbtP(B)=+=1

815(3)talr;=5'=25

abl 
...3x-2<7 ,"3x<7 +2

...3x<9 ...x.8
,'. x<3
... The S.S. = {O ,l ,2}

(a I [al25 (9 + 1 - e) = 25 x 1 = 25

tbl A (o ,4) =*A 1o ' 
z1

B(2,1)----*d12,-t1

Answers of Schools'
Examinations



C (-2 
' 
1)-*i (-2,-1)

B Cairo

@ltlo
(4lz'
(7 )16

(2)54 (3)-25
(5)(-3,0) (6)€

Etalt
(11) I

(14) 12

(e)6
(12) third

(10) 360"

({3) 3

@tr1r
( 4) 256

(2140
(51-17

(3)-4
(6)0

@trt#=27=12s
(2)...2x+9=5 .'.2x=5-g

.'.2x=-4 .. "=7, v=-)

... rne s.s. = {_ 2}

( 3 ) The perimeter of the base

=(6+4) x2=2Ocm.

[a] The lateral arca = 20 x 8 = 160 cm?

[b] The total area = 160 + 2 x 6 x 4

= 2OB cm?

(4)talBC=2units.

IblA(3 r-2)__*A1s,t;
B(t 't1--$13'41
C (3 r 1)__*f, 15 '41

E
Answers of Finol Exominotions

Giza

(2)third (3)360"
(s)(4,3) (6)-1

@{t )r 
"(41 1

(7 )c

Etrleo" (2)o
(4)zero (5).24
(7 | zero

(3 )6
(6)3

@ttta
(4)24

(2)0

(5) +

(3)-1
(6)2

@tr )rrl" area=# x72=154cm?

( 2 ) The lateral area = 40 x 10 = 400 cm?

(3)'.'2x+ 1=9 ;.2x=s-1
;.2x=8 ..x=$
... x= 4

... rhe s.s. = {4}
( 4 ) The measure of central angle of social

=ffi*soo"=roo.
The measure of central angle of sports

=ffi*soo.=so.
The measure of central angle of culture

=ffi"aoo.=eo.

Giza

Ettt-z
(41-12

(7 )77

@(t)'
(4)c

Etrtt-e,o) (2)16 (tla
(4) + (s)1 ,-r (o) t

(2)0 (3)second

(5)zero (6)-9

B

(2t32 (3) I(5)45' (6)+
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@{ f 1 fn" total area = 2 x 2 x 6 = 24 m?

The cost = 15 x 24 = L.E. 360
r et9(z)lal* = (- 3f = e
(- r)

[b] 2 x 500 x (-9) x 3= [2 x 500], [1+1, a]

= 1000 x (-zz1=-rrooo

( 3 ) 
... - 3 x-2<7
.-QY<O

l V\ c

@lrlsoo' (2)(-3,0)
(41-1 (5)o
( 7 ) second

.., The S,S. = {_3 ,-2 ,_ 1 ,0 ,...}

( 4 ) The measure of central angle of food
4.6

= roo 
x 360" = 1OZ"

The measure of central angle of rent

= ffi, soo. = roe.

The measure of central angle of other

"*p"n"""=ffi*360"=90'

Alexandria

,'. -3 x=7 + 2
o

. y>i

E
(3)100
(6)40

@ttyo.s
(4)2
(7 )2t

(2)2,-
(5)0

(3){4}
( 6 ) first

@tryao
(2){-5 t-4;-3t...}
(3)s4 (41(-2t5) (5)6
(6) g

@{ t ) fh" totul area = 8 x 8 x 6 = 384 cm?

(2) 10 + 2- 12= 5 - 12= -7
(31 " 2<3x-1 <8

.'.2+1<3rc<8+1

.'.3<3x<9

.'. 1 sxs3

... The S.S. = {j ,2 ,3}

54
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( 4 )The measure of central angle of Arabic.

=fi*soo.=roo.
the measure of central angle of

mathematics = S, SOO. = tZO"

The measure of central angle of science

=S"eoo.=oo.
The measure of central angle of English

=fr,aoo.=oo.

El-Kalyoubia

!tr l-z (2tru-
(4)154 (5)2

(3)(5,5)

( 6 ) sum of areas of two bases'( 7 ) second

@rrt I
(4)5
(7)5

(2)8

(5)32

(3)360

(6)0

Elt lo or-6 (2112
(4)0 (5)3

(3)x>3
(6)(7,5)

@ttl'. x+s<7
;, x<2

," x<7 -5

... The S.S. = {0 , 1}

( 2 ) The perimeter of the base

=10x4=40cm.
The laieral area= 40 x 2 = 80 cm?

aB(31': =2'=4

( 4 ) The measure of central angle of

lyman=ffi*360'=144'
The measure of central angle of Salma

=ffi*soo.=roo.
The measure of central angle of Youssef

=ffi*soo"=zz"



The measure of central angle of Doaa

= ffi, soo. = ao.

E sr-sharkia

B(t)r"l.o (2)6
(4)5 (s)(-3,0)
(7) +

(3)12
(61 144

Etr lw
(4)3
(7\A

(2)second (31210

( 5 ) 4 ( 6 ) 150

Elrtr
(4)16

(2)- 4

(5)e
3 ) 360"

6)2r(ord)

@tr l'. 3x-7 <s

.'. 3 x< 12

.'. x<4

..3x<5+7
'r.12'' "- 3

.'. The S.S. = {4 t3 t2 ;1 t0 ;- 1 t ...}

( 2 ) The perimeter of the base

=10x4=40cm.
The lateral arca= 40 x7 = 280 cm?

( 3 ) tal The area = ff x (7)2 = 154 cm2

lbl 37 + 93 + 25 + 75 = (37 + 93) + (25 + 75)

= 130 + 100 = 230

( 4 ) The measure of central angle of

handball=ffi*ooo'=so"
The measure of central angle of

basketball = ffi t soo" = tzo'

The measure of central angle of

football=#x360'=144'

Answers of Finol Exominotions

EI-Monofia

Olr lo (21(s ,4) Glru-
(4)0 (5)200 (o)=
( 7 ) second

@{t)r'uigl,t (2)4s
(4)6 (5)-1
(7 | 120'

Etrls
(41 -2

( 2 ) 150 ( 3 ) - 8

(5)6 (6);

(3)150

(6)-2

@ttl'..?-x+s<1
, , v<-Q

.'. x<-4

."2x<1-9
,, x=f

.'. The S.S. = {-4,-5,-6,...}
(2 | - 17 + 17 + 25 (Commutative property)

= (- 17 + 1 7) + 25 14..o"'"tive property)

= 0 + 25 (Additive inverse)

= 25 (Additive identity)

( 3 )The height= 120 +20 = 6 cm.

( 4 ) The measure of central angle of first

=ffi*ooo"=s+.
The measure of central angle of second

= ffi, aoo" = roo.

The measure of central angle of third

= -r* x 360" = rge"

lO E'lErbj, _
O(r)rzo (2)6 (3) (4 ,-2)

(6)600(4)D,rI l5)z-
(71{1,2,3}

@ tt I sample space (2) 4

(3)0 (4)even (5)10
( 6 ) third
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@ttlf .zt$4
(4)zero (5)125

(7)-1

@ttl. 2x+s=5 .'.2x=b-s
;.2x=-4 ,"v=-4^- 2
'Y=-U

... rrre S,S. = {- 2}

^3 ^4 ^7tZl!_l!_=!_=22 =q2" 2c

(3)A(2,3)__*[15,1,
B(-2:0)._*$11 ,-21

( 4 ) The numberof all pupils = 15 + 5 + 10 + 30

= 60 pupils

The measure of central angle of sports

=ffi,eoo.=oo.
The measure of central angle of news

=$*aoo.=ao.
The measure of central angle of series

= {$ , eoo'= oo'

The measure of central angle of movies

= f$ , soo" = rao.

m El-DakahIia

(3)70

(6)4

Otrt-o
(4 l7
(7 )z'

(2)third (3)zero
(5)r' (6){zt1 )o}

56

Ottt-zo (2)iso
1317. (4){5,6,7,...}
(s)a (6)(-1,3)

Btrtr (2)-1
(4)-8 (5)e
(7)360"

(3)3
(6)(-3,0)

gt,tf,S=*=,'=u
( 2 ) The area of rectangle = 12 x 1O = 120 cml

The area of circle = 3.14 x (5)2

= 78.5 cm?

The area of the shaded part

= 120 - 78.5 = 41 .5 cm?

( 3 ) [a] The penmeter ofthe base = (5 + 9) x 2

= 28 cm.

The lateral area = 28 x 10 = 280 cm?

The total area = 280 + (S x 9) : 325 cm2

lbl 78 (115 - 15) = 7s ' 100 = 7800

( 4 ) The measure of cenlral angle of washing

machine=ffit360.=gO.
The measure of central angle of heater

=ffi'soo.=s+.
The measure of central angle of oven

40
=ffix360"='144.
The measure of central angle of mixer

=ffi,zao" =tz"

lD Ismailia

Olr ls3 (2)-3 (3)6
(4125 (s)3 (6)154
(7)6

@ttt=
(4)0
(7)0

(2)3
(5)€

(3)64
(6)1

@rrr{o}
(4)1

(2)(6{,-3) (3)360
(5) 5 (6)125



@ tt I 2s (s+2-1)=2s" '10 = 250

_al1 ua3 _t14
t2t-ff=;r=-42=-16
(3) ..' 2 x+ 8 = 16 ...2 x= 16-B

.'.2x=8 ..x=$

.'. x= 4

when xez: ffre S.S. = {4}
when xe nS:fne S.S. = {4}

( 4 ) The measure of central angle of
.30

washing machine = roo 
,360" = 1OA'

The measure of central angle of heater

=ffi"aoo.=s+.
The measure of central angle of oven

= *t * 360" = r++"

The measure of central angle of mixer

=ffi"soo.=sa"

Port SaidTE
@lt tm

(4)360
(7)(-3,5)

(214
(5)0

(3 )12
( 6 ) 10

@ttl+o
(4)0

(2l2
(5)13

(3)e6
(6)3,0,-7

@trrI
(4 )€
(7 l2

(21- 1

(5)-1
(3)(-3,0)
(6)0

@ttl'.'5x-1>4
. EY>4

.'. x> I

.'.5x>4+1

"-'- 5

... The S.S. = {1 t2 t3 t...}
(2 ) rhe perimeter of the o*": 

teu-":]",
The lateral arca = 28 x 7 = 196 cm?

The total area = 196 + 2 x 6 x I = 292 cm?

a8
(tlj=2o=6a
( 4 ) The measure of central angle of football

= ffi, soo" = rao.

The measure of central angle of handball

=ffi*aoo"=roe.
The measure of central angle of basketball

= ft, soo" = zz.

,,.-G\
/ """ \l/\l
\ roa\ z"ot/
\ s,.nn"r\ "s/\ lel

[E x"lr sl-st 
"iLtt

E tr l-z (2t40
(4)16 (5)6

(7) +

@{rytni'o (2)1s0" (3)-e
(4)# (s)zero (6)2s

(7 ) (4 ,1)

@tt l-te (2ls4cm2. (3)10cm.

(4 ) 38.5 cm? 1s;0 (6 ) *

@ t t ) fn" area of the square = 14 x 14

= 196 cm?

The area of the circlg = ff xf = tS4 cn?

The area of the shaded part = 1 96 - 1 54

= 42cm?

.'.-2x=9-3
6

... rne s.s. = {_ 3}

( 3 ) The perimeter of the base

=(10+7)x2=34cm.
The lateral arca = 34 x g = 306 cm?

The total area = 306 + 10 x 7 = 376 cm?

( 4 ) The measure of central angle of
.30

washing machine = ffi x 360' = 100'

Answors of Finol Exominotions

(3)N

(6)<

(2) '.' 3 -2 x= I
..._2x=6
, v- a
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Answers of Finol Exominotions

The measure of central angle of heater

= ffi, soo" = sa"

The measure of central angle of oven

=ffi*ooo"=ra+.
The measure of central angle of mixer

=ffi*soo.=s+.

IE El-Fayoum

@ttta.
(4)3',
(7 | (4 ,0)

(3)-3
(6)4e

(2)-1
(5)1

@ttl+o
(41 4
(7){0,1}

@tt l-+
(411

(2l4oocm? (3)N
(5)0 (6)2

@ttl.'3x-7>8 .'.3x>8+7
.'. 3 x> 15 .'. X, t

... The s.s. = {6 ,7 , g , ,..}
(- s)10

( 2 );-; = (- 5)'=25
\- r/

( 3 ) The perimeter of the base = 6 x 4

= 24 cm.

The lateral arca = 24 x 10 = 240 cm?

The total area = 240 + 2 x 6 x 6

= 312 cm?

( 4 ) The number of black balls

=40-(12+18)=20balls

[a] The probability that the ball is black

-20-1- 40-Z
The probability that the ball is not red

_28_7- 40- 10

EI-Menia

e)+
(5)z-

(3)6

(e)=

tbI

TE
E(t)s'

(4)(0,0)
(7 )z-

58

(2){-8}
(5)180"

(3) 
_1

(6)*

lfltttt
(4)2

(2)-16 (3)n12
(5){-3} (6)1ocm.

@ { t )r"ro (2) 54

l4l2 (5)second

(7)6

(3)360'
(6 )N

gmf$=(-5)1=-s
( 2 )The area of the 

"-o" 
= ruruo""l)'

The area of one sector = 1 54 + 7

= 22 cml

( 3 ) The perimeter ofthe base = I x 4 = 36 cm.

The lateral area = 36 x 20 = 720 cm?

( 4 ) The measure of central angle of heater

= 100 
Y JbU' = C4

The measure of central angle of oven

=#x360"=tao"
The measurei of central angle of mixer

= 
?a - q66" 

= 
q6"

100 " '--
The measure of central angle of TV

= ffi, aoo. = ao"

Assiutfi
Qttle- (2)-1s

(4lzero (5lA
(7 14

(3)(-5,-1)
(6) +

@tttz
(4)10

(2)2 (3)+
(5)first (6)154

0(r)r*3=5(2)280 (3),
(4)e (s)e (6)54

(7)e0'



@ I t t The lateral area = 10 x 10 x 4 =400 cm?

The total area = 10 x 10 x 6 = 600 cm?

(2\:==2,=128

(3)...3 x-2>4 :.3x>4+2
.'. 3 x> 6 .', r> -0

...x>2 
"- 3

.'. The S.S. = {2,3 ,4 ,...}

-1 012 3 4 5

( 4 ) The measure of central angle of football

= ffi, eoo" = reo.

The measure of central angle of basketball

=ffi*soo.=rzo.
The measure of central angle of

volleyball = ffi ' aOO' = sa'

IEI soutrag

@(1)secona (211

(5)-e
(3112

(6)-2(4)rs

(7 l2

@{rlts,+) (2)4
(4)reflection (5)zero

(7)5

(3)2r
(6)600

@ttye,rz
(4)-5

(2la
(5)882

(3)1

( 6 ) 130

@ lt t'..3x-(-e)=3
.'.3x=-6

... rhe s.s. = {_ 2}

.1v=1-O

-6
J

(21 '.' 2fir = 44 ;.2xff xr=44
44

ZZ

7*2
... The area = ff x (7)2 = 154 cm?

(31...2-3x> 5 .'. -3x>5-2
." -3 x> S ... ,.4
," x<-1
.'. The S.S. = {-2 ,- 3 ,-4 ,...}

( 4 ) The measure of the central angle of

nrabic= # x360"=90"

The measure of the central angle of

English=$x360'=60'

The measure of the central angle of

maths= # x360"=70"

The measure of the central angle of

sclence=$x360"=50"

The measure of the central angle of

social studies = $ r SOO' = SO'

Qena

(1)0
(4)-1
(7 | zero

Answers of Finol Exominotions

(2)5 (3),
(5)216 (6)4

Ip
o

@ ({ lseconO {2lzero
(3)* 

^ 
ll)zero

(6)54cm: (7)X+s
(5)even

Ettl+s"
(41 4

(2)Z*
(5)(1,2)

(312
(6)40

@ttt'.'2x+1<s
...2x<4
." x<2

.'.2x<5-1
:.*.t

... The S.S. = {0 , 1}
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Answers of Finol Exominotions

( 2 ) The perimeter of the 52ss = (6 + 4) x 2

= 20 cm.

[a] The lateral area = 20 x 8 = 160 cm?

[b] The total area = 160 + 2 x 6 x 4

= 208 cm?

t- 3)7
(3), 

"6 
=(-3f =e

( 4 ) [a] The number of black balls

= 25 - (6 + 7) = 12 balls

(1) The probability that the drawn

oatr is btack = #
(2) The probability that the drawn

ball is not r"O = #
Ib] The measure of central angle of washing

machine=ffi*SOO.=OO'

The measure of central angle of

neater=#x360.=54.

The measure of central angle of

oven=#x360.=144"

The measure of central angle of
.20mixer=fr x360"=72'

60

Aswan

Ettlu- (2)1
(4)-4 (5)154

(7){Head,Tail}

( 3 ) first

(6)6

@ttl-q (2)e
(3){0,1t2,3}
(sl(2,-1) (6)2

(4\z

Etrl' e)o
(4)(0,-3) (5)2
g\+

(3lz-
(6)(-3,0)

@(t )zots + (- 1o1b) + 'lBo

(commutative property)

= (2015 + (- 1015)) + 180

(associative property)

= '1 000 + 180 = 1180

(2)'.'x-2>- 3 .'. x>3+2

... The S.S. = {S ,6 ,7 , ...}

( 3 ) The perimeter of the base

=(9+6)x2=30cm.
The lateral area = 30 x I = 240 cm?

( 4 ) The measure of central angle of first

kind=#x360'=eo"
The measure of central angle of

second kind = ffi * SOO. = tZO.

The measure of central angle of third

rino=#x360"=144.



Some Schools' Examinations from
Different Governorates

EA

1

k  Heliopolis Educational Directorate

X Al-ghahid El-Ashery L. gchool
Cairo Governorate

Answer the following questions :

Q Choose the correct answer :
(1 )(-19)° + (19)° = {-1 or zero or 1 or 2)

(S'" or {0} or or 0)

{ 3 ) The height of the cuboid whose lateral area is 160 cm? and the dimensions
of its base are 3 cm. and 7 cm. equals

(2)S-N = -

cm.

(6 or 8 or 10 or 16)

( 4 ) The image of the point A (- 4,3) by translation (-1 , - 4) is

((-5,-7) or (-5,-1) or (-7,3) or (-3,-1))

(5)lfaG{2 ,-5 ,-3}n{5 ,-2 ,-3} ,thena =
(2 or - 3 or - 5 or 5 )

(0 or 1 or 0.5 or 1.2)( 6 ) The probability of impossible event =

Q Choose the correct answer :
(1 ) (I - 9 1 + 3) - 2 S

( 2 ) A cube the perimeter of its base is 36 cm.  , then its lateral area =

(9 or 324 or 36 or 486)

(G or ̂  or C or ̂ )
2

emt

( 3 ) The number which satisfies the inequality :  X> - 2 is

(1 or - 4 or - 3 or - 2 )

( 4 ) The measure of the angle of the sector which represents i the circle
( 30° or 45° or 90° or 60°)

(0 or 2 or -1 or 1 )

(2® or 4® or 3^ or 2®)

equals

( 6 ) 3^ + 3^ + 3^ =

103 _

Q Complete the following :
(1 )s = nU

(2)lfx + 3 = |-7| ,then X =

( 3 ) The edge length of the cube whose total area is 600 cm^ is

( 4 ) The set of solution of the inequality : - 2  < X < zero in S is

( 5 ) The lateral area of the cuboid whose length is 6 cm. and width is 4 cm.

and its height is 5 cm. equals

74
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Final Examinations

( 6 ) A fair die is thrown once ? then the probability of appearing the number 5

equals

( 7 ) A circle of diameter length 14 cm. > then its area = •

(8)lfa = 3 , b = -2 ,then3ab =

cm.

[a] Find the result of: ^
5' X 5°

[b] Find in M the set of solution of the inequality ¥. 3X-2<7

[c] A circle of radius length 10 cm. is divided into 8 equal circular sectors,

(consider JT = 3.14)Find the area of one circular sector.

Q[a] In a Cartesian coordinates plane , locate
the points A (0 ,4) , B(2,1) , C(-2,1) ,

then find the image of A ABC by

translation (0 ,-2)

y

4

3

2

1

a: X

-4 -3 -2 -10 1 2 3 4

-1

-2

-3

-4

[b] The following table shows the percentage of the production of a factory of
house electrical sets ;

The kind of set Washing machine Heater Oven Mixture

The percentage 30% 15 % 40% 15%

Represent these data by circular sectors.
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1

k Nasr City East Educational Directorate

^Manaret El-Eman Language Schools
Cairo Governorate

Answer the following questions ;

Choose the correct answer :

(1 ) The set of non-negative integers is

( 2 ) The equation : 2® + = 100 is of the

1

(C or ^ or {0} or M)

degree.

or 5 or 1^*)th th
or 6

(1 or 2 or 0 or 0.5)

th
(11

( 3 ) If 0 is the empty set ? then P (0) =
2

( 4 ) The area of the circle whose radius length is 2 Jl cm. is cmt

(4Ji: or 2 or 12.56 or 4 )

( 5 ) The integer which satisfies the inequality  : y < - 3 is

(- 2 or - 8 or 0 or 1 )

(15 or 9 or - 15 or - | - 15 |)( 6 ) If 3 X = - 9 , then - 5 X =

Q Choose the correct answer :
( 7 ) The image of the point (4 , - 2) by translation two units in the positive

direction of the y-axis is

((4,2) or (2 , - 2) or (6 , - 2) or (4,0))

( 8 ) The L.S.A. of the cuboid whose dimensions are 3 cm. , 4 cm. and 0.6 dm.

[72cm^ or 8.4 dm^ or 84 dm? or 84 cm?)
(< or = or > or >)

{E or m or 0 or {})

(11) Half the T.S.A. of a cube whose sum of its edge lengths is 36 cm.

(108 or 27 or 54 or 18)

(12) A box contains 14 balls , 5 red ,3 green and the rest are yellow , then the

probability of selecting a non-red ball is

IS

(-3)2(9)-93

(io)s^n^" =

2
cm:IS

or A or A or f)(f 14 14

Q Complete :
( 1 ) The ratio between the T.S.A. and L.S.A. of the cube is

( 2 ) If A (2 , 9) , B (- 4,9) , then the length of ̂  =

( 3 ) The probability of appearing an odd prime number when rolling a die once

length units.

IS

( 4 ) The circumference of the circle whose area is 452.16 cm? is
(Jt = 3.14)
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( 5 ) ((-7)3 X r-*) ̂  (-7)5 =

( 6 ) The S.S. of the inequality 3 + 4x>-9in^is

( 7 ) The volume of a cube whose L.S.A. is 144 cm? is

( 8 ) The measure of the central angle which represents 1 of the circle is
y

3
•  cm.

Q Answer the following :
(1 ) Find the S.S of the equation :2x-3 = -9inS and in N

( 2 ) Use the distributive property to find the result; 25 x 9 + 25 - 25 x 9

( 3 ) Find the area of the shaded part

if the radius length = 7 cm.

( 4 ) Notice the opposite pie chart ?then complete the following :

[a] The percentage of the tennis players Football / \

30% /Tennis
%IS

Swimming
50%[b] The measure of the angle of the sector which

represents the football players is

( 5 ) In the coordinate plane

5 draw the figure ABCD , where :

A (3,1) , B(1 ,3) , C(3 ,5)andD(5 ,3)

, then draw its image by translation (X - 4 , y - 4)

What is the area of the image of the figure ?
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1

IkGiza Governorate EI-Dokki Educational Directorate |
Orouba Language School

Answer the following questions :

Q Choose the correct answer :
13-

( 2 ) 5 X 52 =

(0 or 1 or 2 or -1)

(25^ or 25^ or 5^ or 5^)
(2 or 12 or -12 or 35)(3)lfX-5 = 7 , XGN ,thenx =

( 4 ) The image of the point (4 , 5) by translation (0 , - 4) is

((4,9) or (5,1) or (4,1) or (4,-1))

( 5 ) When tossing a dice once , then the probability of getting a number less
than 1 = (0 or 0 or ̂  or 1 )

( 6 ) The set of odd numbers fl the set of even numbers 
=

(0 or M or TL or 0)

( 7 ) A circle , its circumference is 44 cm. , then the length of its radius

(-f) (22 or 11 or 7cm.  or 14)

(^ or G or or C)(8)1^
(9)lf2X = 6 ,then4X=-

(10) lfX+2<2 ,thenXG-

(11) A box contains 10 cards numbered from 1 to 10 , one card is selected at

random , then the probability of getting a number divisible by 5 =

(3 or 6 or 12 or 16)

(N or 0 or or E~)

3

f)
1

oror or
105

AB(12) In the opposite figure :

The distance between the two points

units.A and B =

♦

0  1 2 3 4-3 -2 -1

(2 or - 2 or 1 or 3)

Q Complete :
(1)4x32-^32-7x3 =
(2)lfX-i-3 = |-6| ,then X=

( 3 ) The sum of the measures of the angles of the sectors about the centre of
the circle =

( 4 ) The equation : x2 -1- 3 = 8 , then the equation is of

( 5 ) A box contains 15 balls all of them are symmetric , 5 white balls , 4 blue
balls and the rest are red balls , one ball is drawn from the box at random ,

then the probability that the drawn ball is red =

degree.
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( 6 ) The image of the point (-1 ,2) by translation of 3 units in the positive
direction of the X-axis is

( 7 ) The lateral area of a cuboid with a square base its length is 10 cm. and its
height is 9 cm. =

( 8 ) In the opposite figure :

ABCD is a rectangle , its length is 12 cm. ,
its width is 7 cm. A circle is drawn to touch

the sides AD and BC ? then the area of

(-f)

A

B 12cm.

the shaded part =

D

C

Q Answer the following :
(-4)^^ x43

(1 ) Find the result of:
4I2

( 2 ) Find the solution set of the inequality : 2  X + 9 < 1 in ̂  and represent it on
the number line.

( 3 ) A container water tank in the form of a cube , its inner edge length is 1.5 m.
It is wanted to paint it to prevent the rust. The cost price of one square metre

is L.E. 15 , calculate the cost of painting.

( 4 ) On the coordinate plane :

Locate the points A (3 , - 2) , B (1 ,1)

and C (3 ,1) , then :

[a] Find the length of BC

[b] Draw the image of A ABC by translation

(X + 2 , y + 3)

y

4

3

2.

1

X

-4 -3 -2 -IO 1  2 3 4 5
-1

-2

y"
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( 5 ) The following table shows the percentage of the favourite sport for your
class students :

The favourite sport Football Basketball Volleyball Swimming

The percentage 20%25%45% 10%

Represent these data by using the circular sectors.

1

Alexandria Governorate East Educational Zone

Maths Supervision

Answer the following questions :

Choose the correct answer from those between brackets :

( 1 )^ = ]MU

(2){0}

(3)lfxe{2 ,5 ,-3}n{-5 ,-2 ,-3}
, then X =

({0} or 0

7L

(-5 or -3

1

or or ’T)

(E or ̂  or d or CjL)

or -2 or 2)

(> or < or = or otherwise)

(> or < or = or otherwise)

4
(4) (9)2
(5)(-7)

(-3)

(-I-51)

( 6 ) The solution set of the equation : X - 2 =  3 in S is

(5 or 1 or {5} or {3})

( 7 ) The number which satisfies the inequality ;  X + 4 > 2 is

(- 1 or - 2 or - 3 or - 4 )
2

( 8 ) A cube of edge length 6 cm. , then its lateral area = cmr

(216 or 180 or 144 or 108)

) by translation (X - 3 »y + 4)

((-8,15) or (-2,7) or (-8,7) or (-2,-7))
( 9 ) The image of the point (

is (- 5 , - 3)

(10) The lateral area of the cube = Area of one face x •

(2 or 4 or 6 or height)

(11) The sum of measures of the angles of the sectors about the centre of the

circle =

(12) If 0 is empty set , then P (0) =

(100° or 150° or 180° or 360°)

(0 or 2 or 1 or 0.5)
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IQ Complete each of the following :
(1)1-51 + 17

(2)5x(-3 + 7) = 5x(-3) + 5x

( 3 ) The S.S. of the inequality : X + 4 < 7 in M is

( 4 ) In the opposite coordinate plane :

A( )9

( 5 ) In the opposite coordinate plane :
The length of AC =

( 6 ) If the lateral area of a cube is 100 cm?
? then its total area =

( 7 ) The perimeter of the base of a cuboid is 10 cm.

9 its height is 4 cm. 9 then its lateral area =

( 8 ) When tossing a die once 9 then probability of getting a number 5 =

Q Answer the following :
(1 ) Arrange the following numbers in an ascending order;

-9 9I7 9|-9| 9 - 15 and 16

units.

2
cm. :  -;3 -2 1

l  ! -!-i

y"2
cm.

 2 3

( 2 ) Find the result in the simplest form by using the basic laws of

repeated multiplication : ^
{-5f

( 3 ) A circle 9 its diameter length is 7 cm. 9 calculate its surface area
where Tl= ~

( 4 ) In the coordinate plane ;

ABCD is a rectangle where

A (4 91)96 (4 9 3)9 C (1 9 3) and D (1 91)

9 find its image by translation (X- 5 9 y + 3)

y

6

5

4

c B
3

¥i2
1

X A

-4 -3 -2 -IO 1  2 3 4 5
-1

-2

y'

( " : f) 'f ¥ / (Worksheets & Examinations) oW ^wboll 81
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{ 5 ) The following table shows the number of students participating in the school
activities :

ArtsThe activity SocialSportsCultural

35%15%The percentage 45 %5%

Represent these data by circular sectors.

1

Al-Obour Educational Zone

AI~Resala Language School
El-Kalyoubia Governorate

Answer the following questions :

Q Choose the correct answer :
(1){-3, -1} S {CZ or G or or

(2^ or 8 or -8 or -2^)
(7 or 3 or 5 or 6)

(2) (-1)2x23 =
(3) If 2 X = 10 ,thenX + 2 =

( 4 ) The equation ; x ̂ + 3 = 4 is of degree.

(1®^ or 3''^ or 2'^^ or 4"')
( 5 ) The image of the point (3,-2) by translation (-3,2) is

((0,0) or (3 ,0) or (2 ,0) or (6,4))

( 6 ) The sum of the measures of the accumulative angles at the centre of
a circle is

( 7 ) When throwing a fair die once , the probability of appearing number less
(90° or 360° or 180° or 70°)

21

' 6
orororthan 4 = 32

2

( 8 ) The lateral area of a cube whose side length is 3 cm. = cm.

(27 or 48 or 36 or 54)

( 9 ) The number which satisfies the inequality :  X- 2 > 3 is

(3 or 5 or 4 or 6)

(2^ or 2''^ or 2''° or 2^"^)(10) 2^x2^ =

Q Complete the following :
(1 ) 12x

( 2 ) 3^ ̂  3^ =
( 3 ) A circle , its diameter length is 14 cm. , then its area =

= -72

cm.

(4)NUS“ =
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( 5 ) The solution set of the equation : 3 X + 2  = 8 in M is

( 6 ) The solution set of the inequality : X + 5  < 7 where X is

( 7 ) A cuboid whose length is 9 cm. , width is 7 cm. and its height is 10 cm. ,
and its total area =then its lateral area =

( 8 ) The greatest negative integer is

Q Answer the following :
(1 ) A box contains 5 white balls , 9 red balls and 4 black balls. If a ball is

selected randomly , then calculate the probability that the selected balls is :
[b] Black or red =

[d] Not black =

( 2 ) A circle M is drawn inside a square of side length 14 cm. and
touches its sides. Calculate the area of the shaded

part. (Jt 3.14)

[a] White =

[c] Yellow = •

M

( 3 ) Arrange in an ascending order: (- 2)^ , (- 3)^ , (- 1)^^ and (- 5)^

(4 ) In a Cartesian coordinate plane locate

the points A (4 , 3) , B(4,1) , C(1 ,1)
and D (1 ,3), then find ;

[a] Its image by translation (X - 2 n y - 3)

[b] Area of the figure and its perimeter.
? the perimeter =The area =

[c] Name of the figure. ( )

El-Sharkia Governorate West Educational Zone

Z.F.L.fi. for Girls

Answer the following questions :

Choose the correct answer ;

(1 )(-i)«+(-i)3= (zero or 1 or - 1 or 2)

( 2 ) If the radius length of a circle is 10 cm.  , then its surface area =
(Given that: Jl = 3.14) (3.14 or 31.4 or 31

2
cm:

4 or 3140)
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(G or ̂  or C or (^ ){a ,b}

( 4 ) All the following numbers satisfy the inequiaity : X > - 3 except

(zero or -1 or -2 or - 3)

(3)0

)( 5 ) The image of the point (-3,4) by translation (0 , - 4) is (

((-3,0) or (-7,4) or (- 3 ,8) or (-1 ^4))
(0 or M or S"' or {0})

( 7 ) The measure of the angle for the circular sector of half of a circle is

(90° or 120° or 180° or 360°)

degree.

(first or second or third or fourth)

(6)m-E~ =

( 8 )The equation : x + 2 = 10 is of the

( 9 ) If a die is rolled once , then the probability of getting a number 5
is (1 or f or i or i )

2

(10) If the edge length of a cube is 6 cm. , then its total area = cm.

(24 or 36 or 144 or 216)

(20 or -20 or 9 or -9)

((3)3 or (3)3 or (3)^^ or (3)^)
(11)(- 5)x|-4| =

(12) (3)7 ̂ (3)4 =

Q Complete each of the following ;
U(13)S = Z“U

X height.(14) The lateral surface area of a cuboid =

(15) In the opposite figure :
The percentage of the shaded circular

25%
35%

%sector =

(16) The probability of the impossible event equals
(17) If X + 6 = 2 , where X GS , then X =

(18) The sum of measures of angles accumulative around the centre of the circle

23 + 2®

(19)-^ =
(20) The circumference of the circle = x

Q Answer the following :
(21) Find the solution set of the equation : 2 X  + 9 = 5 where X GE
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(22) Use the properties of addition in % to find the result of:

-17 + 19 + 17 (state the property used in each step).

(23) A cuboid with a square shaped base of side length 7 cm. and its height is
10 cm. , calculate its lateral surface area.

(24) Find the solution set of the inequality : X  + 4 < 7 , where X GKf

(25) The following table shows the favorite sport in youth centre :

Sports Football Basketball Handball Volleyball

Percentage 40% 20% 30% 10%

Represent these data by circular sector.

El-Monofia Governorate^ Shiben El-Kom Educational Zona

Maths Department

Answer the following questions :

Choose the correct answer from those between brackets :

(1)s-z-=

( 2 ) The number which satisfies the inequality ;  X > - 2 is

1

(S'" or N or {0} or 0)

(- 1 or - 2 or - 3 or - 4 )

(r or r ̂  or 2 r or 2 r^)
( 4 ) When tossing a die once ? then the probability of getting a number 5 =

(zero or 1 or |- or 1 )
(zero or -1 or 1 or 2)

(M or 0 or S'" or S“)

( 3 ) The surface area of a circle = JT x

(5) (-1)8+ (-1)9 =
(6) lf2x = -6 ,thenxG
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length units.

(0 or 1 or 3 or 5)

(zero or 0.5 or 1 or 2)

(20 or -20 or 9 or -9)

(< or > or = or E)

{ 7 ) If A(-2 ,1) and B (3 ,1) ,then the length AB 
=

( 8 ) If 0 is the empty set ? then P (0) =

( 9 ) (- 5) X I 4 I =

(10) Ifa < b ,then ;-3a

(11) The image of the point (-3,4) by translation (X , y - 4) is

((-3,0) or (-7,4) or (-3,-8) or (-1 ,4))

-3b

(12) The lateral surface area of the cube = area of one face x

(6 or 5 or 4 or 3)

Complete :

(1 ) The probability of apperance a head when tossing a coin once =

JT cm^( 2 ) A circle of diameter length 8 cm. , then its area =

( 3 ) The lateral area of the cuboid = perimeter of the base

( 4 ) The equation : 4 X ̂ - X = 29 is of
( 5 ) A circular sector represents of a circle , then the measure of its central

angle = °

( 6 ) If the area of one face of a cube equal 9 cm^ , then its total area =

( 7 ) The solution set of the inequality : - 2 <  X < zero in S is

( 8 ) The perimeter of one face of a cube is 12 cm. , then its total area = ■

X

degree.

c

cm

2
m.

2
.

Q Answer the following :
(1 ) A cuboid-shaped box with a square base its length is 10 cm. and its height is

7 cm. Calculate the lateral area.

( 2 ) Find the solution set of the equation : 2 X  + 9 - 3 , XEZ,

DA 8cm.

( 3 ) In the opposite figure :

ABCD is a rectangle where its length = 8 cm.

and its width = 7 cm.

Calculate the area of shaded part.

E

cB
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(4 ) Use the properties of addition in % to find :

116 + 190+ (-116)

( 5 ) The following table shows the number of students participating in the school
activities :

The activity Cultural Sports Social Arts

The percentage 5% 45% 15% 35%

Represent these data by circular sectors.

El-Gharbia Governorate Al-Gharbra Educational Directorate ̂
^  Math's Supervision \

Answer the following questions :

Q Choose the correct answer :
(1 ) A fair die is thrown once , then the probability of appearing the number 6

(0 or 1 or i or 1 )equals

( 2 ) The solution set of the equation : 3 X = -  6 in N is

({- 3} or {3} or {2} or 0)
(3 or - 3 or 7 or - 4)(3) If X+5 >2 ,thenx>

( 4 ) The integer that lies between - 4 and - 1 is

(- 2 or - 5 or 3 or - 4 )

(10° or 10 or 10^ or 10°)
event.

{5)(-5)2x(2)2 =

( 6 ) If A is an event in a sample space S , P (A) = 1 , then A is

(impossible or possible or sure)
( 7 ) The multiplicative identity element in TL is

(-1 or 1 or 0 or 2)

({0} or 0 or W, or zero)(8)E^ 0^-=

( 9 ) The surface area of the circle =

( JC or Jt r ̂  or 2 jt r or 2 Jt r ̂  )
(25 or 5 or - 5 or - 25)

(- 9 or 24 or 3 or 81 )

(10) The additive inverse of (- 5)^ is
(11) 27 .i-(-3)2 =
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(12) The measure of the angle for the sector of third of a circle is

(90° or 120° or 180° or 270°)

Complete each the following :

( 1

(2) 14 + 213 +(-14) =

( 3 ) The sum of edge lengths of a cube is 84 cm.  , then its lateral area

equals

( 4 ) The result of: 2^ x (- 1 )2 ̂  8 =
( 5 ) If X + 6 = 2 , where X GZ ? then X =

( 6 ) (4 X 3 -+ 3) - (7 X 3) =

(7)lfX=|-3| , y = -2 ,then2Xy =

( 8 ) If - 5 X = 35 ? where X GZ ? then X =

2
cmt

Q Answer the following :
(1 ) The circumference of a circle is 88 cm. Calculate its area. ̂ Consider JC =

22 \
7

( 2 ) Find the solution set of the inequality : 2  X + 1 ̂  7 where X GZ

( 3 ) In the Cartesian coordinates plane
, locate each of the following points

A(1 ,1) , B(3 ,1)andC(3 ,3)
, then find the image of A ABC

by translation (X - 2 ? y + 2)

( 4 ) The following table shows percentage of egg production in three farms ,

a merchant collected these eggs to distribute them on the grocery stores :

ThirdSecondFirstThe farm

40 %35%25 %The percentage of the production

Represent these data by using the circular sectors.
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r9^ El-Dakahlia Governorate Maths Supervision

Answer the following questions :

Q Choose the correct answer :
(1 ) 1-98 I

( 2 ) The image of the point (

is (- 5 , - 3)

( 3 ) The equation : X ̂ + X = 5 is of

or G or C or (^)

) by translation (X - 3 > y + 4)

((-8,1) or (-2,-7) or (-2,7) or (2,7))

degree.

(fourth or third or second or first)

(1 or 1 or i or 0)
(> or = or < or <)

cm^ (Jt = 3.14)

(31.4 or 314 or 23.14 or 43.14)

(5 or 3 or 1 or 2)

( 4 ) The probability of the impossible event =

(5) (-6)2 - 12

( 6 ) A circle , its diameter length is 20 cm. , then its area =

(7)2-(-3)'> =
2( 8 ) The sum of edge lengths of a cube is 24 cm.  , then T.S.A. = cm.

(16 or 36 or 4 or 24)

( 9 ) If X (3 , 8) , Y (3,4) , then the length of XY = length units.

(4 or 6 or 12 or 5)

(10) If (S) is a sample of a random experiment , then P (S) =

(0 or 1 or i or 1)

(11 or 32 or 8 or 14)

(9 or 3 or - 3 or - 9)

(11) If 3 y = 9 , then y + 5 =

(12) The additive inverse of (- 3)^ is

Q| Complete :
(1 ) Two things must be known for the translation to happen

( 2 ) The probability of the sure event =
103 _

( 4 ) If a cuboid shaped box with a square base its length is 9 cm. and its height
is 10 cm. , then the L.S.A. = 2

cm:

(5)(-6)x(-2) =

( 6 ) The measure of the angle for the sector of third of a circle =

(]'! : I ■ / (Worksheets & Examinations) oW -iwlafoll 89
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2

( 7 ) A cube , its volume is 1000 cm^ , then its lateral area =

(8)2x 32-32- 4x3 =

cmr

Q Answer the following :
{1 ) Find the solution set of: 3 X - 7 < 5 ? where X GZ

(-3)^x(-3)4
( 2 ) Find the value of:

(-3)5

( 3 ) In the coordinate plane :

Locate each of the following points

A (2 , 3) , B (4 , 3) and C (4,5)

? then find ;

[a] The length of BC =

[b] The image of A ABC by translation (0 ,-2)

length units.

5

4

3

2

1
X

1  2 3 4 5-3 -2 -10
-1

( 4 ) Find the lateral area and total area of a cuboid without lid , its length is 16 cm.

, its width is 9 cm. and its height is 5 cm.

( 5 ) The following table shows the percentages of production of a factory for
three kinds of electric water heaters :

3rd2ndStThe kind 1

Percentage 25 % 35 % 40%

Represent data by the circular sectors.
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la Ismailia Governorate Directorate of Education

Directing MathematicsA

Answer the following questions :

Q Choose the correct answer :
(0 or 1 or -1 or 2)

(2 or 3 or 5 or 0)

(2 or 1 or 0 or -1 )

( 2 ) If 2 X = 0 ,then X=

( 3 ) The greatest negative integer is

( 4 ) If X + 6 = 5 ? then the solution set in Kf is

({-1} or {1} or 0 or {0})
(3 or - 3 or 7 or 4)(5)lfx + 2 = |- 5|, then X=

( 6 ) The solution set of the inequality : X > 0 in Z is

(Z or z or z ~ or N)

( 7 ) The image of the point (3 ? 0) by translation of magnitude 3 units in
the negative direction of X-axis is

((3,3) or (0 ,0) or (3 , - 3) or (0 , - 3))

(> or < or = or <)

(0 or 1 or 0 or -1 )

(r or 2 r or r ̂  or r ̂  )
(11) If a fair die is rolled once , then the probability of getting an even

(0 or i or g
(12) If the total area of the cube = 54 cm? , then the area of one face =

( 8 ) If X > y , then X + z

( 9 ) The probability of the impossible event =

(10) The surface area of the circle = Jt x

y + z

1 1number =
7>or

2
cm?

(4 or 5 or 8 or 9)

Q Complete ;
(i)z-^-

( 2 ) The sum of edge lengths of a cube = 120 cm. ,
then the lateral area =

( 3 ) y - 4 < 2 is an inequality of

( 4 ) The area of the circle whose diameter length is 14 cm. =

( 5 ) On the number line :

The length of AB

=  length units.

( 6 ) If IXI = 3 , then X =

( 7 ) If one of the families spends its salary as the following 40 % for food , 20 %
for house rent , 30 % for expenses , then saves the remainder is

2
cm:

degree.
2

cm:

A B
♦ ♦

-4 -3 -2 -1 0  1 2 3 4 5

%
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( 8 ) A cuboid of length 6 cm. , width 4 cm. and height 5 cm. , then its lateral

area =
2

cm.

IQ Answer the following ;

(1 ) Find the value of:
(

3

- if X 3^

^ X (- 2)^

( 2 ) Calculate the area of the opposite figure.

^Consider ll = )
22

7

E

20 cm.

( 3 ) The perimeter of the base of a cube is 28 cm.
Calculate its lateral area and total area.

( 4 ) Find the solution set of the following equation ? where XGS: X + 5- 4

( 5 ) A box contains 25 balls , 6 balls are yellow , 7 balls are red and the

remainder is black , if a ball is drawn randomly.

Find the probability that the drawn ball is ;

[b] Not red =[a] Black =

iiyj
South Educational Zone

Mathematics Inspection
Suez Governorate

Answer the following questions :

Choose the correct answer ;1

(1 ) When tossing a die once ? then the probability of getting a number on the

(zero or ̂  or ̂  or 0)
(C or or ̂  or

upper face more than 6 =

(2) {0}
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( 3 ) The equation : + 3 = 8 is of degree.

(first or second or third or fourth)

(< or = or > or otherwise)

(-1 or zero or 1 or 2)

( 6 ) The sum of the measures of the accumulative angles at a point = °

(4)|-5| 5

(90 or 180 or 270 or 360 )

(Kf or 0 or or TT)(7) lf2X = -6 ,thenXG

( 9 ) The total area of the cube = Area of one face

7^ 1 (< or = or > or otherwise)

X

(2 or 4 or 6 or 8)
A(10) On the number line :

unitsAB =

B
♦

-4 -3 -2 -1 0 1 2 3 4 5 6

(8 or 7 or 5 or - 2)

(11)5x(-4) =

(12) The image of the point (-3,4) by translation (X , y - 4) is
((-3,0) or (-7,4) or (- 3 ,8) or (-1 ,4))

(- 20 or 20 or 9 or - 1 )

Complete :

(1)S-N =

( 2 ) The circumference of the circle =

(3)^ =

X Jt

(4)lfX + 6 = 2 , XGl ,thenx=

( 5 ) The lateral area of the cuboid = perimeter of the base x

( 6 ) A cube of edge length 10 cm. , then its lateral area =

= (length + width) x 2

( 8 ) A box contains 5 white balls , 3 blue balls and 8 red balls all of them are

symmetric. One ball is drawn from the box at random. Then the probability
that the drawn ball is red =

(7)

Answer the following :

(1 ) Use the properties of addition in % to find the result of:

(- 7) + 19 + 17 (state the property used in each step)
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: X-2 <3( 2 ) Find the solution set of the following inequality in

f)( 3 ) A circle , its radius length is 7 cm. , calculate its surface area, (where JX =

{ 4 ) A cuboid shaped box with a square base. Its length is 10 cm. 5

its height is 7 cm. Calculate the lateral area.

( 5 ) The following table shows the percentages of the production of
a factory of house electrical sets ;

The kind of set Washing machine

The percentage 25 %

MixerOvenHeater

20%40%15%

Represent these data using circular sectors.

12) Port Said Governorate m
Educational DirectoratQ

Maths Inspector

Answer the following questions :

Q Choose the correct answer :
(1 ) The surface area of a circle = Jt x

( 2 ) lf-2 X = 6 ,then XG

( 3 ) The number which satisfies the inequality :  X- 2 > 3 is

(r or r^

{M o

 or 2 r or 3.14)

r 0 or S ̂ or S )

(-1 or - 2 or 6 or 4)

{4)(-1)® + (-1)® = (zero or -1 or 1 or 2)

or ̂  or CZ or (t)

(2^ or 2^ or 2^ or 1 )
(5)15-11 1 -

( 6 ) 2^ X 2^ =

( 7 ) When tossing a die once the probability of getting a number on the upper

face more than 6 is ( 0 or zero or 1 or 2)
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(8)1-31 = (3 or - 3 or - I 3 I or 3 - 3 )

( 9 ) The total area of a cube = area of one face

(4 or 5 or 6 or 8 )

(10) The probability of the impossible event =

(11) The image of the point (2 ,3) by translation (X + 1 , y + 2) is

(0 or zero or 1 or 2)

((3,4) or (3 ,5) or (4,3) or (5,3))

(4 or I - 4 I or - 4 or 14 |)(12)lfX + 6 = 2 , XGE,thenX =

Q Complete:
(1)3 + 1-31 =

( 2 ) The perimeter of the base of a cuboid is 10 cm. , its height is 4 cm. , then
its lateral area =

( 3 ) The probability of the sure event =

( 4 ) The sum of the measures of the angles of the sectors about the centre of
circle = °

( 5 ) The circumference of the circle =

( 6 ) A cube of total area 150 cm^ , then the length of its edge is
(7)S'"U{0} =

( 8 ) If 3 X = 9 , then X =

X Jt

cm.

Answer the following :

(1 ) Find the result of: (4 x 3^ -5- 3^ - 7 x 3)

( 2 ) In the coordinate plane locate the points

A (2 , 3) , B (4,3) , C (4,7) , then find :

[a] The length of BC =

[b] The image of A ABC by translation (0 , - 4)

units.
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( 3 ) Find the solution set of the inequality : X  -2 > 3 where X GS

, then represent it on the number line.

( 4 ) A cuboid shaped box with a square base its length side is 10 cm. and its

height is 4 cm. , calculate the lateral area.

( 5 ) The following table shows the percentage of the production of a factory of
house electric sets , represent it by circular sectors :

MixerThe kind of set Washing machine OvenHeater

15 %40 %The percentage 15 %30 %

1

ri3T Damietta Governorate^ A.V Damietta Educational Directorate

Jk Official Language iSchools -A

Answer the following questions :

Choose the correct answer ;

(1 )snN =

( 2 ) The equation : X ̂ + 4 = 5 is of the

1

(% or or {0} or M)

degree.

(first or second or third or fourth )
K cm^( 3 ) A circle , its radius length is 4 cm. , then its area =

(4 or 8 or 12 or 16)

( 4 ) The image of the point (-3 ? 5) by translation (X + 1 ? y - 2) is

((-4,3) or (-2,3) or (-2,-3) or (2,3))

( 5 ) If a fair die is tossed once , then the probability of getting an odd
number = (0 or 1 or ̂  or 1)

1

( zero or 1 or 8 or - 8 )(6)1-41-14

( 7 ) All the following numbers satisfy the inequality : X > - 3 except
( zero or - 4 or - 1 or 2 )
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( 8 ) The sum of edge lengths of a cube is 96 cm. ,
then its lateral area = 2

(8 or 64 or 256 or 384)
( 9 ) A circular sector represents 1 of a circle  , then the measure of its central

angle = °

(10) lf3x = -9 ,thenXG

(11)(-1)8 + (-1)9 + (-1)

(12) The solution set of the inequality : 2 < x <  3 where X GN is

cm:

(90 or 120 or 180 or 270)

(N or S or 0 or S “)
zero _

( zero or - 1 or 1 or 2)

({zero} or {2} or {3} or {2,3})

IQ Complete each of the following :
{-2fx{-2f

(13)
2I0

(14) lfX-3 = |-7| ,thenx=

(15) If X (-3 ,2) , Y (-3 , - 4) , then the length of XY =

(16) The height of a cuboid whose lateral area is 160 cm? and dimensions of its
base are 7 cm. and 3 cm. = •

(17) A box contains 5 white balls , 3 blue balls and 8 red balls , all of them
symmetric , one ball is drawn from the box at random , then the probability
that the drawn ball is red =

(18) The multiplicative identity element in S is

(19) The image of the point (-1 ,2) by translation of magnitude of 3 units in the
positive direction of y-axis is

(20) The surface area of the circle =

Answer the following :

(21) Find the solution set of the inequality : 3  X- 2 > 4 , where X GS

units.

cm.

are

(22) Use the properties of addition in Z to find :

115 + 390 + (- 115) (write the used property).
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(23) A cube of edge length 12 cm. Find the total area.

/  _ 22'
(24) A circle , its diameter length is 14 cm. Calculate its area where \ %=^

(25) The following table shows the rate of the score of 200 students in one

school of Cairo governorate :

WeakRate PassGoodExcellent

10%25%Percentage 50%15%

Represent these data by circular sectors.

Iit=
14) Kafr El-Sheikh GovernorateA

Educational Directorate

General Math Supervision

Answer the following questions :

Choose the correct answer :1

(-5 or -1 or 1 or 5)( 1 ) If X - 2 = 3 , then X =

( 2 ) The lateral area of a cuboid of length 3 cm. !. width 2 cm.

and height 4 cm. =
2 (20 orcm. 24 or 40 or 52)

(< or > or = or <)

(0 or 1 or 3 or 6)

-3 b(3) lfa<b ,then-3a

(4)3-1-31 =

( 5 ) The image of the point A (3 ,4) by translation (1 , - 1) is

((3,3) or (2 ,3) or (4,3) or (4,5))
(0 or S or jt or {0})

(zero or - 1 or 1 or 2)
(6)E'"ns" =

103 _104
+ (-1)(7)(-1)

2

( 8 ) A cube of edge length 6 cm. , then its total area = cm.

(36 or 72 or 144 or 216)

( 9 ) If a die is thrown once , then the probability of appearance of

the number 5 = ^ "I "6 ^ ^
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(10) The area of the circle = (r or 2 r or r ̂  or r + 2 )
(11) The measure of the central angle which represents of the circle =

X JC

8

(90° or 36° or 45° or 40°)

(12) If S is a sample space of a random experiment , then P (S) =
(0 or 2 or 1 or 0.8)

Complete the following :

(13) lfx+5 = 3 ,XGZ ,thenx=

(14) The perimeter of the base of the cuboid is 10 cm. , its height is 4 cm.
? then its lateral area = •

(15) The equation : X ̂ - 3 = 6 is of the

(16) 32+ 2^ =

(17) If the perimeter of base of a cube is 20 cm.  , then its total

(18) A circle of radius length 7 cm. , then its area =

(19) If X (- 3 ,2) , Y (- 3 ,4) , then the length of XY =

(20) The probability of the impossible event is

2
cm:

degree.

area is

cm?

length uni

2
cm.

ts.

IP Answer the following :
(21) Find the solution set of the inequality : 2  X + 1 < 5 ? where XEN

2^ X (- 2f
(22) Find the result of:

25

(23) If the sum of edge lengths of a cube = 36 cm. Find :

[a] Its lateral area. [b] Its total area.

(24) A circle of radius length 7 cm. is divided into 8 equal circular sectors.

Find the area of each circular sector, (jr = ̂
\  7 /
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(25) The following table shows the percentage of the number of students who

participated in a school activities represent the data by a pie chart:

The activity ArtSportMusic

35%The percentage 25% 40%

El-Fayoum Governorate^^ Educational Direetorato

Maths Inspector

Answer the following questions :

O Choose the correct answer from those between brackets :

(1)NU^“ = ^ or m)
( 2 ) All the following numbers satisfy the inequality : X > - 3 except

(0 or - 2 or - 1 or - 4 )

(zero or -1 or 1 or 2)

(5 or 7 or -7 or 6)

(> or = or < or <)

(3 or - 3 or 1 or - 1 )

10 _
(3)(-1)” +(-1)

= 3 3 XGS?thenX =

1-7 + 31

( 6 ) The additive inverse of (- 3)° is
(7)lfx = 4 3 y = -3, then the negative number of the following is

(x + y orx-y or xy ory^)

(5)1-71 + 3

( 8 ) The image of the point (4,-3) by translation (X - 3 , y + 3) is

((_7,_6) or (1 ,0) or (0,1) or (7,6))

( 9 )The probability of appearing a head when tossing a coin once =

(zero or 2 or 1 or i)
(10) If the probability of success of a student in mathematics is 75 % ,

then the probability of his failure =

(11) The ratio between the lateral surface area and the total surface area of
a cube =

(12) The total surface area of a cuboid = 100 cm? and area of one base 20 cm^ ,
cm2(40 or 60 or 80 or 140)

1

(25 or 0.35 or 1 or ̂ )

(2:3 or 3:4 or 6:4 or 1 :2)

then its lateral surface area =

Qj Complete each of the following :
^ (13)The degree of the equation :X^ +3x2 +X+ 4 = 11 (5 degree.
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(14) The solution set of the inequality ; X < 0 in N =

(15) The solution set of the equation : X + 6 = 5 in M = ¥"

(16) If the perimeter of one face of a cube is 20 cm. ,

then its total surface area =

(17) In the coordinates plane if the point A (- 2 ,4) and the point B (5 ,4)
»then length of AB =

(18) A cuboid its lateral area is 120 cm? and the length is 8 cm. , width is 4 cm.
? then its height =

Circumference of the circle

2
cm:

units.

cm.

(19)
2 Jl

(20) < the probability of any event <

Q Answer the following :

(21) Find the result of: -
A-5fx{-5f

i-5V

(22) Find the solution set of the following equation in Z : 3 (X + 2) = 3

(23) Calculate the area of a circle with radius length 10 cm. (Jt = 3.14)

(24) A box in the shape of a cuboid , its length is 10 cm. , its width is 5 cm. and
its height is 8 cm. , find its lateral surface area and its total surface area.

(25) The following table shows the percentage of the favorite sports in a school :

Type of the sport Football Basketball Flandball

Percentage of
students number 40% 35% 25%

Represent these data by circular sectors.
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^6T El-Menia Governorate^ Samalout EdueationaJ Zone

Answer the following questions :

Q Choose the correct answer :
(1 )lfX-2 = 3 ,thenX =

( 2 ) A cube of edge length 6 cm. , then its total area =

(- 5 or - 1 or 1 or 5 )
2

cm:

(36 or 72 or 144 or 216)

( 3 ) When tossing a die once, then probability of getting a number divisible by 5
equals (0 or i or or 1 )

( 4 ) The equation : x ̂ + 3 = 4 is of the degree.

(first or second or third or fourth)
( 0 or 1 or 2 or 3 )( 5 ) The smallest natural number is

( 6 ) The number which satisfies the inequality ;  X > - 2 is

(- 1 or - 4 or - 3 or - 2 )
Tt cm^( 7 ) A circle, its radius length is 4 cm. , then its area =

(8 or 16 or 64 or 2r)

(zero or 1 or -1 or 2)

, then the area of face =

or 81 cm^ or 54 cm. or 81 cm.)

(zero or -1 or 1 or 2)

{ 8 ) The additive identity in M =

( 9 ) The total area of a cube is 324 cm^
(54 cm^

103 _104
+ (-1)(10) (-1)

(11) The probability of occurrence of the impossible event =

(0 or zero or 1 or ̂ )
(> or < or = or <)(-10)(12) lf-3X<30 ,thenX

Complete each of the following :

(1 ) Measure of angle of the circular sector in which its area represents from
the area of the circle =

( 2 ) If X (- 3 , 2) , Y (- 3 ,4) , then length of XY = length units.

( 4 ) The lateral area of a cuboid of length 3 cm. , width 2 cm. and height 4 cm.
2

=  cm:

( 5 ) The sum of the measures of all accumulative angles at the center of a circle

equals
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( 6 ) The image of the point (2 , - 1) by translation (x - 1 ? y + 3)
is the point ( ,

(7)lfX+3 = |-7| ,thenx =

(8)lfX=|-12| ,y = -3 5 then X^y =

)

Q Answer the following :
(1 ) Find the solution set of the inequality : 3  X- 5 < 7 where XG^'^?

then represent the solution set on the number line.

( 2 ) A cuboid , its length is 6 cm. , its width is 4 cm. and its height is 8 cm. Find :

[a] Its lateral area. [b] Its total area.

2^ X 2®
( 3 ) Find the result of:

2"^

( 4 ) A box contains 8 white balls ? 7 red balls  ? all balls are identical ? if one ball is

drawn randomly, find the probability that this ball is :

[a] Red =

[c] Blue =

( 5 ) The following table shows the percentage of eggs production in three farms
during one month :

[b] White =

[d] Red or white =

The farm First Second Third

The percentage of production 25% 50% 25%

Represent these data by circular sectors.
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177 Souhag Governorate IkMaths Supervision

Answer the following questions :

Choose the correct answer :

is the smallest positive integer.

1

(-1 or 0 or ^ or -10)

({0} or 0 or ^ or zero)

( 3 ) The probability of getting on the upper face of a die a number which is

(0 or zero or ̂  3^
( 4 ) The surface area of the circle whose diameter length is 20 cm.

(314 or 0.314 or 3.14 or 62.8)

(zero or -1 or 1 or 2)

(0 or 1 or 2 or 3)

cm. (Jt = ̂ )
(28 or 24 or 44 or 14)

degree,

(fourth or third or second or first)

(1 or 0 or -1 or 2)

(145 or 154 or 22 or 7)

(1)

more than 6 when tossing it once is

cm^ (Jt = 3.14)

(5)(-1)8 + (-lf =

( 6 ) The probability of the impossible event =

( 7 ) A circle ? its circumference is 88 cm. > then its radius length =

( 8 ) The equation : 4 X ̂ - X = 29 is of

( 9 ) The smallest non-negative integer is

(10) A circle , its radius length is 7 cm. , then its area = cm

(11) The image of the point (-4,3) by translation (-1 , - 4) is

((-5,-7) or (-5,-1) or (-7,3) or (-3,-1))

(G or ̂  or C or (t)(12)1-9 1 + 3

Complete each of the following :

(1 ) The lateral surface area of a cuboid of length 3 cm. , width 2 cm. and

height 4 cm. =

{-2fx{-2f_

2
cmr

(2)
2I0

uu(3)2 =

( 4 ) If the perimeter of base of a cube is 20 cm. , then its lateral area =

( 5 ) If A(2 ,4) , B (2 ,- 1) ,then the length of AB is units.

2
cm.
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( 6 ) In the opposite figure :

The percentage of the shaded
circular sector =

( 7 ) The sunn of the measures of the accumulative angles at
the centre of the circle =

( 8 ) The image of the point (2 ,4) by translation (X - 1 , y + 1) is

Answer the following :

(1 ) Find the solution set of the equation : 2 X  -3 = - 9 , where X GS

%

( 2 ) A cuboid box with a square base of side length 6 cm. and its height is 10 cm.
Calculate its lateral surface area and its total surface area.

( 3 ) Find the solution set of the inequality : 3  X- 2 > 4 , where X GZ

A D

( 4 ) In the opposite figure :

ABCD is a rectangle where its length = 10 cm.

and its width = 7 cm. , calculate the area

of the shaded part. (Jt = ¥^) B 10 cm. C

( 5 ) The following table shows the rate of the score of 200 students in one
school of Cairo governorate :

Rate Excellent Good Pass Weak

Percentage 15% 50% 25% 10%

Represent these data by a pie chart.

(' 1: f) 1 1 / (Worksheets & Examinations) oUJ ^ttqbbll 105
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Qena Educational Directorate >->5;^
Central Mathematics Supervision

Qena Governorate

Answer the following questions ;

1 Complete :

(1 ) If the lateral area of a cube is 36 cm^ , then its total area =
2

cm.

(2)(-1)^ + {-1)^ =
( 3 ) The distance between the location of a number and the location of zero on

the number line is called

( 4 ) The additive inverse of zero is

( 5 ) The image of the point (3 ,5) by translation (X + 2 , y - 1) is

( 6 ) The probability of the impossible event =

( 7 ) If A(-2 ,1) , B (3 ,1) ,then AB =

( 8 ) A cube of edge length 6 cm. , then its lateral area =

units.

2
cm.

Q Choose the correct answer :
(1 ) If S is a sample space of a random experiment, then P (S) =

(zero or 2 or 1 or 0.8)

(- 54 or 54 or 9 or 1 )

(0 or 1 or -1 or - 2)

(4 or - 3 or - 5 or 0)

{2)-l-54| =

( 3 ) The greatest negative integer is

(4)-4>

( 5 ) Type of central angle of a circle is straight angle , then it represents
from surface area of the circle.

(quarter or half or third or whole one)
or otherwise)(6)4^

( 7 ) When tossing a die once, then probability of getting a number 5 =
(> or < or8

I or 1)
1

(zero or ̂  or

( 8 ) If the perimeter of base of a cube is 24 cm. , then its total area = •
(144 or 36 or 54 or 216)

2
cm.

( 9 ) The equation - X = 29 is of the degree.

(first or second or third or fourth)
(N or 0 or or

(22 or -22 or 88 or -88)

(£ or ̂  or C or C^)

(10) lf2X = -6 ,thenXG

(11) [5 +(-3)] x(-11) = -

(12) S'" N

106



Final Examinations

Q Answer the following :
(1 ) A circle , its circumference is 44 cm. Calculate its surface area. (Jt = ̂  or 3.14)

( 2 ) A cuboid , its length is 6 cm. , its width is 4 cm. and its height is 8 cm.
Find its lateral area and its total area.

A-3fxi-3f
( 3 ) Find the result of:

(-3)5

( 4 ) Find the solution set of the inequality ; 3  X- 2 > 4 where X GE , then
represent it on the number line.

( 5 ) The following table shows the percentage of the production of a factory of
house electrical sets :

Marks Washing machine Heater Oven Mixer

Percentage 30% 15% 40% 15%

Represent these data by circular sectors.

1

19
\

I
Aswan Governorate

K
Asvi/an Educational Directorate

Aswan Official Language School

Answer the following questions :

1 Choose the correct answer from those given :

(1 ) The greatest negative integer is

( 2 ) The total area of cube = X area of on

(0 or 1 or -1 or 2)
e face

(6 or 2 or 4 or 3)

107



Final Examinations

(12 or -12 or 1 or 0)

) by translation (X - 3 > y + 4)

((-8,15) or (-2,-7) or (-8,7) or (-2,7))

(-7 or -9 or 8 or -8)

(3)1-61 + 16

( 4 ) The image of the point (

is (- 5 , - 3)

(5)(-8)x1 =

( 6 ) The probability of the impossible event =
(0 or 1 or -1 or 1)

( 7 ) The solution set of the equation : X + 2 =  7, where X GS is

(- 5 or 9 or 5 or - 9)

(- 9 or 9 or - 6 or 4 )

(21 or -10 or 10 or 4)

(-10 or 8 or -8 or 10)

(zero or 1 or 1 or 2)

(8)(-36)^(-4) =

(9)7-1-31 =

(10) The previous integer of (- 9) is

(11) If 0 is the empty set then P (0) =

(12) The image of the point (1 , - 3) by translation (

is (1 , 0) ((1 ,0) or (0

)

,0) or (3,0) or (0,3))

Q Complete the following :
(1)lfX + 6 = 2,X GS , then X =

(2)(-3)“ =

( 3 ) The lateral area of a cube its edge length  5 cm. equals

( 4 ) The image of the point (3 ,5) by translation (X + 2 , y - 1) is

( 5 ) The total area of the cuboid =

( 6 ) When tossing a die once, the probability of getting a number divisible by 3

equals

{7)E-m =

( 8 ) In the opposite coordinate plane ;
units.

+ the sum of the areas of the two bases

L
AB = 3

2
AB

-1

-3 -2 -10 1 2 3
-1

-2

-3

r
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Q Answer the following :
(1 ) Use the properties of addition operation in 7L to find the result of

the following : 37 + 25 + 63 + 75

( 2 ) A circle , its circumference 88 cm. Calculate its surface area. (Jt = ¥^)

( 3 ) Find the solution set of the inequality : X  - 2 > 3 , X GZ , then represent it
on the number line.

(4 ) A cuboid shaped box with a square base its side length is 9 cm. and the
height is 20 cm. Calculate the lateral area and total area.

( 5 ) The following table shows the percentages of the production of house
electrical sets :

The kind of set Washing machine Heater Oven Mixer

The percentage 30% 15% 40% 15%

Represent these data by circular sectors.

20) South Sinai Governorat^
I I

E/-Tur Educational Zone

Maths Inspection

Answer the following questions :

Q Choose the correct answer :
(1)3

(2) lf2x = 4 6 ? then X £

-6
(> or < or = or <)

{m or or or {-4})
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( 3 ) The image of the point (3 , 5) by translation (X + 2 , y - 1) is

((5,6) or (5 ,4) or (1 ,4) or (1 ,6))

( 4 ) When tossing a die once, then the probability of getting

a number 5 = (zero or or 1^ or 1 )
(E or ̂  or C or (^)

1

(5)1-65

( 6 ) The number which satisfies the inequality :  X > - 2 is

(-1 or -2 or -3 or -4)

( 7 ) The circumference of the circle = X Jt

(r or 2 r or r^ or r + 2 )
(S or N or 0 or {0})(8) n =

( 9 ) If X is less than - 5 , then the symbolic expression is

(x>-5 or x<-5 or x>5 or x<-5)
faces.(10) The number of faces of the cube -

(6 or 8 or 12 or 4)

(11) The sum of the measures of the accumulative angles at the centre of the

circle = (180° or 360° or 270° or 90°)

(1 or -1 or 3 or 2)(12) lfx-2 = 1 ,thenX =

Q Complete;
(1 ) A cube of edge length 6 cm. , then its total area 

=

( 2 ) If the base area of a cube = 49 cm^ , then its lateral area =

( 3 ) If X + 5 > 2 , then X >

( 4 ) The probability of the impossible event =

( 5 ) The image of the point A (1 ,4) by translation (X - 2 , y + 1)

is the point A (

(6)The equation ; 3X^-6 = Mis of the

( 7 ) If the perimeter of the base of a cuboid is 10 cm. and its height is 4 cm. ,

then its lateral area =

( 8 ) If X (- 3 , 2) , Y (- 3 , - 4) , then the length of XY =

2
cm:

)

degree.

2
cm:

length units.

Answer the following :

( 1 ) Find the result of: -
2®x2®
2^x2
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( 2 ) Find the solution set of the equation :2 X  + 9 = 3 , where XEE

( 3 ) A circle , its diameter length is 14 cm. , calculate its surface area.

(where jr =

The surface area =

( 4 ) In a Cartesian coordinate plane , locate

the points A (2 , 3) , B (4,3) , C (4,7)

and join them, then find the length of BC

- ....I

( 5 ) The following table shows the percentage of production in three farms :
The farm The first The second The third

The percentage of the production 25% 35 % 40%

Represent these data by using the circular sectors.
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The measure of the central angle of'

X360"= 54°
15

mixture =
100

Answers of Schools’ Examinations

TO] Cairo

0(1)2
(4)(-5 ,-1) (5)-3

(2)Z- (3)8

(6)0

Q(1)E
(4) 90"

(2) 324 (3) 1

(5) 0 (6) 3^

TO]
T

Cairo
(3) 10 cm.

(4){-1 ,0} (5)100cm^ (6)1
(7) 154

(2)4

(8)-18
0(1)N

(4) 4

th
(2)5 (3)0

(5)-8 (6)15

15

OwflT
[b] V 3X-2<7

3 X < 9

X < 3

TheS.S. = {0 ,1 i2}

[c] The area of the circle = 3.14 x (10)^
= 314 cm^

The area of one sector = 314 + 8

= 39.25 cm^

= 5^ = 25

.-. 3 X < 7 +

Q (7) (4 , 0) (8) 84 cm^ (9) <
(10) { } (11)27 (12)^ 2

f (3)1Q(1)3:2
(4) 75.36 cm. (5) 49

(6) {-2 ,-1 ,0 i1 ,...} (7)216

(8) 40“

(2)6

0(1) ■.■2x-3 = -9
2 X = - 6

X = - 3

When xeZ: TheS.S. = {-3}
When XGN: The S.S. = 0

2 X = - 9 + 3
-6

2

[a]A(0 ,4)-

B(2 ,1)-

C(-2 ,1)

*A(0 ,2)

-B(2,-1)

-^C'{-2,-1)

(2) 25 (9 + 1 - 9) = 25 X 1 = 25

(3) The area of the circle = ^ x (jf
= 154 cm^

The area of the triangle =1x7x14
= 49 cm^

The area of the shaded part =154-49

= 105 cm^

A
4.

A'

x- c" \ B X
IS"10

-2

[b] The measure of the central angle of
X 360° = 108"30

washing machine = 100 (4) [a] 20 % [b] 108°

*A(-1 ,-3)

*B(-3,-1)

-d{-1 ,1)
-D{1 1-1)

The measure of the central angle of
heater = ^ x 360° = 54°

100

(5)A(3 ,1)

B(1 ,3)

C (3 , 5)

D(5 ,3)

The measure of the central angle of
oven = X 360“ = 144”

100

2021
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(5) The measure of the central angle of

football = ̂ x 360'= 162°5

The measure of the central angle of

basketball =

TiTe measure of the central angle of

volleyball =

10
X 360° = 36°

100

25
X 360“ = 90“

100

3

^ 2

X'
'-2 -10

>
2 3 4 5

I?B'
-2

□ZEC The measure of the central angle of
X 360“ = 72“20

swimming = 100

1

The area of the image = -^ x 4 x 4
= 8 square units.

'1Giza

0(1)0 (2)5=
(4) (4,1) (5)0

(8)G
(10) Z- (11) i
(7)7

(3)12
(6)0
(9)12
(12)2

'1Alexandria

(2)C (3)-3

0(1)-17 (6) {5}(3) 360°
(6) (2 ,2)

(2)3 (4) = (5)<

(S)f
(7) 360 cm? (8) 45,5 cm?

nd
(4)2 (9) (-2 ,-7)

(12)0

(7)-1

(10)4

(8) 144

(11)360°

(4)”x4= -(4) 14

0(1)12 (2)7
(4) (3, 5) (5)6

(7)40 (8)16

(3) {0,1 ,2}
(6) 150

= -(4=) = -16
2 X < 1 - 9

.•.x<^

0(1) 4’= 4’=
(2) ■■■ 2 X + 9 < 1

2 X < - 8

X < - 4

TheS.S. = {-5 ,-6,-7 , ■■■}
0(1) The order is:-15,-9,1-91 ,16 and 17

(-5)=
(2) = -5

(-5)“
-7 -6 -5 -4 -3 -2-1 0 1

(3) The total area = 1,5 x 1.5 x 6 = 13.5 m?
The cost = 13,5 X 15 = L.E. 202.5

(4) [a] BC = 2 units.

[b]A(3,-2)
B{1 ,1)-

C{3 ,1)-

-^A(5,1)
*B(3,4)

-d (5 ,4)

(3) The area = ^ x (3.5)= = 38.5 cm=
(4) A (4,1).

B (4,3)

C(1 ,3)

D(1 ,1)

.A(-1 ,4)

B (- 1 ,6)
C (- 4 , 6)

d (- 4 , 4)
\

C\ S
5

C'
4

Et C B
3

22
B C

1 1
X x' D A X

-1Q -4 -3 -2 -10 1 2 3 41 4 5
-1

-2
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(5) The measure of the central angle of

cultural = 360° = 18°
100

*A(2 ,0)

B (2 , - 2)

■*C(-1 ,-2)
- D (- 1 , 0)

(4) [a] A (4 ,3)

B(4,1)
C(1 ,1)
D(1 ,3)

The measure of the central angle of

sports = ^ X 360° = 162°
The measure of the central arigle of
social = 15

X 360" = 54"
100

AD

The measure of the central angle of

3

2

1
35 B X

T n 4 *x360"= 126°arts =
100

-1

i-2-
B'C'

y'

[b] The area = 3x2 = 6 square units.
5 the perimeter = (3 + 2) x 2

= 10 length units.

\m [c] rectangle.El-Kalyoubia Tk
'1El-Sharkia

(2)8 (3)7
nd

Q(1) zero
(4)-3
(7) 180°
(10)216

(4)2 (5) (0 , 0) (6) 360°
(8) 36 (9)6

(2)314
(5) (-3,0) (6)N
(8) first
(11)-20

(3)C

(9)1
(12) (

(7)1
(10)2

3f
10

(2)1 (3)154
Q(13) {0} (14) perimeter of the base

(16)0
(19) 10

(15)40
(18) 360°

(17)-4
(5) {2}(4)E

(20) diameter length , it

(6) {2,1 ,0, ...}
(7) 320 cm^ , 446 cm.^ (8)-1

Q(1) [a] The probability that the ball is white Q(21) V 2x+9 = 5
2 X = - 4

X = - 2

TheS.S. = {-2}

2 X = 5 - 9

.•.X = ^5_
18

[b] The probability that the ball is black

or red =

[c] The probability that the is yeilow = 0

[d] The probabiiity that the bali is not black
J4 - Z

_ j3
18 18

5 + 9

(22) -17 + 19 +17 = -17+ 17 + 19
(Commutative property)
= (- 17 + 17) + 19 (Associative property)
= 0 + 19 (Additive inverse)
= 19 (Additive identity)

(23) The iaterai area = 7x4x10 = 280 cm?
(24) ••• X + 4 < 7

X < 3

The S.S. = {0,1,2}

X<7-4

18 18

(2) The area of the square = 14 x 14

= 196 cm^

The area of the circie = ^ x 7^ = 154 cm?
The area of the shaded part = 196 - 154

= 42 cm?
(25) The measure of centrai angle of football

40
(3) The order is :

(-2)^, (-I)'®, (-3)2 and (-5)2 X 360° = 144°
100
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The measure of central angle of arts
35

The measure of central angle of

basketball =
20

X 360° = 72°
100

X 360° = 126“
100

The measure of central angle of

handball = X 360° = 108°
100

The measure of central angle of

volleyball = X 360° = 36°
100

Footbail

El-Gharbia 
1̂^

144^

0<i)i
(4)-2

(2)0

(5)10"
(8)0

(11)3

(3)-3

(6) sure

(9)Ttr"

(12) 120°

Handball

(7)1
El-Monofia

A
(10)-25

(3)r"0(1) (2)-1

(5)zero

(8)zero

(11) (-3 ,0)(12)4

(6)Z-

(9)-2

0(1) {0} (3) 196

(6)-17

(2)213

(5)-4

(8)-7(7)5

(10) >

0
(4)1

(7)-12

2 X ̂  X r = 88Q (1) V 2Jlr = 88
0(1) 0.5 (2)16

(5) 120

(7) {-1,0} (8)54

rd
(4)3

(3) height

(6)54

88
= 14 cm.

2xf
The area =^ x (14)" = 616 cm"

(2) 2 X + 1 < 7

2 X < 6

X < 3

TheS.S. = {1 ,2,3}

► A(-1 ,3)

► B (1 ,3)

► C(1 ,5)

2 X < 7 - 1

.•.xsf

(3)A(1 ,1)

B(3 ,1)

C (3 ,3)

Q (1) L.A. = 10 X 4 X 7 = 280 cm?
(2) V 2x + 9 = 3

2 X = - 6

.'. X = -3

The S.S. = {- 3}
(3) The area of the rectangle = 8 x 7 = 56 cm?

The area of the circle = ^ x (3.5)"
= 38.5 cm"

The area of the shaded part
= 56-38.5 = 17.5 cm"

(4) 116+ 190+ (-116) =116+ (-116)+190
= [116 + (- 116)] + 190 = 0 + 190 = 190

2 X = 3 - 9
-6

X =
2

c'5

.2
A

c

. 2
1

A: B X
-19 1  2 3

-1

(5) The measure of central angle of cultural

100
(4) The measure of central angle of first farm

25
The measure of central angle of sports

X 360° = 162“45
100

X 360° = 90°
100

The measure of central angle of second farm

X 360° = 126°35
100

The measure of central angle of social
^ 15 X 360° = 54°

100
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(5) The measure of central angle of 1®' kind

X 360° = 90°
25

100

The measure of central angle of third farni

= ̂ x360° = 144°
The measure of central angle of 2^^*^ kind

X 360'’= 126“

The measure of centra) angle of 3*^*^ kind
40

100

X 360“ = 144“
100

X0] El-Dakahlia ’
2™* Kind

0(1)^ (2)(-2j-7) (3) second

(4)0 (5)> (6) 314
1

(7)1 (8)24

(11)8

(9)4 Ismailia
t

(10)1 (12)-9
0(1)0 (2)0 (3)-1

(6)Z*Q(1) magnitude ?direction
(4) 360

(7) 400

(3)0

(6) 120

(4)0 (5)3(2)1

(7) (0 ,0)

(10) r^
(8)> (9)0(5)12

(8)-10 (11) ̂ (12)9

0(1) {0}Q(1) V 3X-7S5
3XS 12

XS4

The S.S, = {4,3,2 ,-}

3 X

XS

(2) 400

(4)154 (5)7

(7)10 (8)100

(3) first

(6) 3 or-3

 S 5 + 7

12
-g-

0(1)(-2)^x3^ = 4x9 = 36
(2) The area of the semicircle

= -1 X S X 7^ = 77 cm^

The area of the rectangle

= 20 X 14 = 280 cm?

The area ofthe figure = 77 + 280 = 357 cm?

(3) The edge length = 28 + 4 = 7 cm.

The lateral area = 7x7x4 = 196 cm?

The total area = 7 x 7 x 6 = 294 cm?

X = 4 - 5

The S.S. = {-1}

(5) The number of black balls = 25 - (6 + 7)

= 12 balls,

[a] The probability that the ball Is black

= 41-

(4) V X+5 = 4

/. X = - 1

25

11

(-3) 6
(2) = 3° = 729

(-3)®

(3) [a] 2

[b]A(2,3)

B (4 ,3)

C (4,5)

A(2 ,1)

B(4,1)

d (4 ,3)

c
5

B
3

2

&1

JC
-1 ? 1 2 3 4
-1

(4) The perimeter of the base = (16 + 9) x 2

= 50 cm.

The lateral area = 50 x 5 = 250 cm^

The total area = 250 + 16x9 = 394 cm?
[b] The probability that the ball is not red

_12 + 6_ 18
“ 25 “ 25
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TSD] '1
Q(1)6

(4) 360”

Suez (2)40 (3)1

(5) diameter length
Q (1)zero (2)C (3)second

(6) 360
(6)5 (7)N (8)3

(4) = (5) zero

0 (114x9*9-21 =36 ♦9-21(7)Z- (8) = (9)6
= 4-21 =-17

(2) [a] BC = 4 length units.

► A(2 ,-1)

-B (4 ,-1)

-6(4 ,3)

[b]A(2,3)

B(4,3)

C(4,7)

(10)7 (11)-20 (12) (-3,0)

0(1)2- (2) diameter length

(4)-4 (5) height(3) 32

(6) 400 cm^
(7) Perimeter of the rectangle (8) 1

0(1) (-7)+ 19 + 17 = (-7)+ 17 + 19
(Commutative property)

= (-7 + 17)+ 19
(Associative property)

= 10 + 19 = 29

/. X s 3 + 2(2) vX-2fi3  £ 5

7

5

4
B

A-3

2

1
X

TheS.S. = {5 94,3 ,

(3) The area = ^ X 7^ = 154 om^
(4) The perimeter of the base = 10x4

= 40 cm.
The lateral area = 40 x 7 = 280 cm^

(5) The measure of central angle of

washing machine = ^ x 360” = 90”

X
1

B'

y”

(3) vX-ZZO

TheS.S. = {5,6 ,7 ,...}
X Z 3 + 2 XZ5

-1 0 1 2 3 4 5 6 7

(4) The perimeter of the base = 10 x 4
= 40 cm.

The lateral area = 40 x 4 = 160 cm^
(5) The measure of central angle of washing

machine = 30 X 360” = 108”
too

The measure of central angle of heater
15 X 360” = 54”
too

The measure of central angle of oven
40

X 360” = 144”

The measure of central angle of mixer
X 360” = 72”

100

20

100

The measure of central angle of heater

X 360” = 54”
15
100

The measure of central angle of oven
40HeetBi

X 360“ = 144“
100

The measure of centra! angle of mixer

X 360“ = 54“
15

100

1Port Said

0(1)
(4) zero

(7) zero

(10) zero

(2)2- (3)6
(6) 2'(5)G

(8)3 (9)6

(11) (3, 5) (12)-4
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0(13)-2 (15) second

(18) 154

(14) 40

(17) 150

(20)0

X®] 1Damietta
(16) 17

(19)2
0(1)H (2) third

(5)1

(8) 256

(11)1

(3)16

(6) zero

(9) 120

(12) {2}

(4) (-2 ,3)

(7)-4

(10)2"

Q(21) ■.■2X->-1<5
2 X < 4

The S.S, = {0,1}

(22)^ = |^ = 2^ = 4
(23) The side length = 36 + 12 = 3 cm.

The lateral area = 3x3x4 = 36 cm^
The total area = 3x3x6 = 54 cm{

(24) The area of the circle = ^ x 7^
= 154 cm{

The area of one sector = 154 8

= 19.25 cm^

2 X < 5 - 1
4 X <X < 2̂

 2

0(13)4
(16)8

(19) (-1,5) (20)Jir^

(14) 10
(17)1

(15)6
(18)1

0(21)v3X-2a4
.'.3X26

The S.S. = {2 ,3,4 ,...}
(22) 115 + 390 + (- 115) = 115 + (- 115) + 390

(Commutative property)

3 X a 4 + 2
6 X > 2X £ 3̂

= [115+ (-115)]+390
(Associative property)

= 0 + 390

= 390

(Additive inverse) (25) The measure of central angle of music

X 360° = 90°

The measure of central angle of sport

X 360° = 144°

25

100

40
100

(Additive identity)

(23) The total area = 12 x 12 x 6 = 864 cm^
(24) The area = ^ x 7^ = 154 cm?
(25) The measure of central angle of

X 360° = 54°15excellent = The measure of central angle of art

The measure of central angle of good
100

35 X 360° = 126°
100

50
= ^x360° = 180°
The measure of central angle of pass

Music
25

= ^x360° = 90°
The measure of central angle of weak

X 360° = 36°_ 10
100

El-Fayoum i

0(i)z (2)-4 (3) zero

(6)-1

(9)^
(12) 60

(5)>(4)7

(7)xy

(10) i
(8)(1 ,0)

Kafr El-Sheikh
(11)2:3

0(1)5 (2) 40
(5) (4,3)
(8)216

(11)45°

(3)> Q(13) third
(16) 150

(19) radius length

(1 4) {0}
(17)7

(15)0

(18)5

(20) 0 ,1

(4)0 (6)0

(9)^
(12)1

(7) zero

(10) r^
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(-sf
Q(21) = (-5f = 25 The lateral area = 20 x 8 = 160 cm^

The total area = 160+ 2x6x4

= 208 cm^

(-5f

X + 2= 4
X = 1 - 2

The S.S. = {- 1}

(23) The area = 3.14 x 10^ = 314 cm^

(24) The perimeter of the base

= (10 + 5)x2 = 30cm.

The lateral area = 30 x 8 = 240 cm?

The total area = 240 + 2x10x5

= 340 cm^

(22) 3 (X + 2) = 3

x+2 = 1

X = -1 (3)fT = 2^
(4) The probability that the ball is red = ̂

= 16

8

The probability that the ball is white = :j^
The probability that the ball is blue

The probability that the ball is red or

white =
7 + 8

= 1
15

(25) The measure of central angle of

football =

The measure of central angle of

basketball =

40
X 360° = 144°

100

35
X 360° = 126°

100

(5) The measure of central angle of

X 360° = 90°
25

first farm =
100

The measure of central angle of

X 360° = 180°
50

second farm =
100

The measure of central angle ofThe measure of central angle of

X 360° = 90°
25

handball =
100

25
third farm = ̂  X 360° = 90°

100

Rret

Third

1El-Menia Souhagj]

0(1)5 0(1)1
(4) 314

(7)14

(10) 154

1
(2)216

(5)0

(8) zero

(11) zero

(3)t
(6)-1

(9) 54 cm^
(12) >

(2)0

(5) zero

(8) third

(11)(-5,-1) (12)G

(3) zer

(6)0

(9)0

o

(4)second

(7)16

(10) zero

O (1) “15”
(4) 40

0(1)40
(3) Z" , {0} , ZT

(2(3)Z"(2)2 )4

(5) 360°

(8)-4

(6) (1 ,2) (4) 100

(7) 360°(7)4 (5)5 (6)35

(8){1 ,5)
0(1)v3x-5S7 .-.3X<7 + 5

3X<12

TheS.S. = {1 ,2 ,3 ,4}

.■.x<;
3̂ Q (1) V 2X-3 = -9 2 X = - 9 + 3

• X = ^. .X 2
The S.S. = {- 3}

(2) The perimeter of the base = 6x4
= 24 cm.

The lateral area = 24 x 10 = 240 cm?

.-. 2 X = - 6

.-. X = - 3

.-. X < 4

-1 0  1 2 3 4 5

(2) The perimeter of the base
= (6 + 4) X 2 = 20 cm.
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44

Q(1) V 2nr = 44 = 7 cm.The total area = 240 + 2 x6 x6

= 312 cm?

The area = ̂  x 7^ = 154 cm^
(2) The perimeter of the base = (6 + 4) x 2

= 20 cm.

The lateral area = 20 x 8 = 160 cm?

The total area = 160+ 2x6x4

= 208 cm?

3 X a 4 + 2

.■■xaf
(3) V 3X-2a4

.-. 3X26

.'. X 2 2

.-. TheS.S. = {2 ,3 .4 , ...}
(4) The area of the rectangle = 10x7

= 70 cm?

The area of the circle = -^ x 3.5 ^
= 38.5 cm^

The area of the shaded part
= 70-38.5 = 31.5 cm?

h3):= (-3)^ = 9(3)
(-3)=

(4) V 3X-224 .-.3X24 + 2
63X2 6

X 2 2

.-. TheS.S. = {2,3,4 , ...}

.-. X 2
3

(5) The measure of central angle of
x 360” = 54"15excellent =

100

-1 0 1 2 3 4

(5) The measure of central angle of

washing machine =

The measure of central angle of

heater =

30
X 360” =

1 00

15 X 360” = 54”
100

The measure of central angle of 108”
X 360” = 180”good 100

The measure of central angle of
= J5 X 360” = 90”pass

The measure of central angle of

X 360° = 36”

100

10weak =
100

The measure of central angle of

oven = 360° = 144“
100

The measure of central angle of
15 X 360” = 54”mixer =

100

/  \ WBShtnc N.
Heater\ f^achine \-  -A ,0^ \

,4/ Mixer,
Oven

T©] 1
Qena

Aswan

0(1)54
(3) absolute value (4) zero

(5) (5,4)

(2) zero

(6) zero

0(1)-1
(4) (-2,-7)

(2)6 (3)12
(5) - 8 (6) 0

(8) 144
(7)5 (8)9 (9)4

(7)5 (10)-10 (11) zero (12) (0,3)

0(1)1 (2)-54 (3)-1

(5) half (6) >

(8)216 (9) third

(11)-22 (12) C

(2)1
(4)-5 (3) 100 cm?

(5) Lateral area

(7)Z-

(4) (5,4)

(6)1(7)16
(10) (8)6
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11

0(1) It0(1)37 + 25 + 63 + 75
= 37 + 63 + 25 + 75

= (37 + 63) + (25 + 75)
= 100 + 100 = 200

(2) 2 Jt r = 88

= 2^ = 128

2 X = 3 - 9

The S.S. = {- 3}

(3) The area = ̂  x 7^ = 154 cm?
(4) BC = 4 length units.

(2) V 2x+9 = 3

2X = -6

X = -388
= 14 cm.

2xf
.-. The area = ̂  x (14)^ = 616 cm?

X a 3 + 2 .-. X a(3) V X-2&3

.-. The S.S. = {5 ,6,7 ,...}

 5

7

6

6

-1 0 1 2 3 4 5 6 7

(4) The perimeter of the base = 9x4
= 36 cm.

The lateral area = 36 x 20 = 720 cm^

The total area = 720 + 2x9 x9

= 882 cm^

4

A' B3

2

1

-1? 1 2 3 4
-1

y'

(5) The measure of central angle of
(5) The measure of central angle of

washing machine = x 360“ = 108°

The measure of central angle of

x 360° = 54°

The measure of central angle of

X 360° = 144°

15
heater =

100

40
oven =

100

firstfarm=^x360° = 90°
100

The measure of central angle of
35

x 360° = 126°second farm =

The measure of central angle of

100

40
X 360° = 144°third farm =

100

The measure of central angle of

mixer = -^ x 360° = 54°
100

Washing
machineHeater

108°

Mixer,

South Sinai ’

0(1)^
(4)1
(7)2r

(10)6

(2)Z- (3) (5,4)

(6)-1

(9) X < - 5

(12)3

(5)^

(8)0

(11) 360°

0(1)216 (2) 196

(5)(-1 ,5)

(3)-3

(6) second(4)0

(8)6(7) 40
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